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ldentification

(XA 22222 02020
Product Code: AC~-BO37C-M(
Diagnostic Code: MAINDEC~-11-CRLPG-C
Product Name: CRLPGCO LPA/XWI1K TEST
Date Revised: DEC. 1980
Maintainer: DIAGNOSTIC ENGINEERING

Copyright (C) 1978, 1979, 1980
pigital Equipment Corporation, Maynard, Mass.

This software is furnished under a license for use only on a
single computer s¥sten and may be copied only with the inclusion
of the above copyright notice. This software, or any other
copies “‘ereof, may not be provided or otherwise made available
to any other person except fcr use on such system and to one who
agrees to thes: Llicense terms. Title to and ownership of the
software shall at all times remain in DEC.

The information in this document is subject to change without
notice and should not be construed as a commitment by Digital
tEquipment Corporation.

DEC assumes no responsibility for the use or reliability of its
software on equipment which 1s not supplied by DEC.
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2.0

2.1

2.2

ABSTRACT

tevROETRSE

“'C'* VERSION OF THE PROGRAM IS DUE TO A CHANGE IN THE MICRO-
CODE IN THE LPA=17 (DM(C-11),

B’ VERSION OF THE PROGRAM FIXES LS210 THRU LS230 PROGRAM BUGS
AND SEVERAL DOCUMENTATION ERRORS.

This program allows the user to check out or debug the KW11K,
DUAL REAL TIME CLOCK. The logic test is self contained and needs
no external maintenance hardware or operator intervention.

Five special tests are included within this program to allow the
user to check out and debug the external I/0 signals. To run
these tests a jumper wires is needed in order to loop output to
an input.

THIS PROGRAM IS A MODIFIED VERSION OF 'MD-11-DZKWK=A''. IT WAS
MODIFIED TO ENABLE THE OPERATOR TO CHECK OUT THE KW11K OPTION
WHEN 1T IS ON THE LPA11-KX 1/0 BUS. NO RECABLING IS NEEDED.
SOME TEST DONE IN THE ORIGINAL DIAGNOSTIC SUCH AS ARBRITRATION
TEST, WERE DELETED AS THEY COULD NOT BE CHECKED. IF THIS
DIAGNOSTIC DOESN'T FIND A SUSPECTED PROBLEM, YOU MAY HAVE TO
RUN ‘MD-11-DZKWK=A"". YOU SHOULD RUN 'MD-11-CRLPA'" BEFORE
RUNNING THIS DIAGNOSTIC. PLEASE READ SECTION 10.

REQUIREMENTS
(22232382232
Equipment

1. PDP11 FAMILY COMPUTER with 16K of memory or more and 1[/0
facilities (a switch register or TTY).

2. KWI1K under test installed in the LPA-11KX.

3. for external I/0 signal tes*s a loopback wire (Jumper) is
needed. Jumpers are 30 AWC j 'per type 915

4. LPA11-KX

Storage

This program occupies and uses only the lower 16K of memory.

SEQ 0003
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3.0 LOACING PROCEDURE

3

3.2

sttt tuatoeRRROS

Method

Standards procedure for normal binary tapes should be followed.
1. Absolute Loader must be in memory.

2. Place binary tape in reader.

3. Load address *7500 (+ determined by location of loader).

4. Press ''Start’' (program will be Loaded into memory).

The program can also be loaded by XXDP, ACT, or APT.
\

Non-Standard Address, Vector, or Priority; or Use of Software
Switch Register

This program is set to test a KW11K with a standard address,
vector, and priority. If any of these are different on the KW11K
gou are testing, change the corresponding location 1in memory
efore starting this test.

LOCATION TAG CURRENT CONTENTS COMMENTS
1254 $BASE : 170404 ::Base address of equipment
;2 under test
1250 $VECT: 000344 : :INTERRUPT Vector #
1252 S$PRIOR: 000006 ::Bus priority - 1,#2
176 $SWREG: 000000 :Manual SWR.
$TPFLG: .BYTE O ::"'Terminal Available'

; Flag (Bit<0Q:7>=0=Yes)

NOTE

If no hardware Switch Register exists,
you mal set any bit in "SWREG'' as you
would have set it in the SWR.

SEQ 0004

~,



4.0

4.1

6.2

6.3

STARTING PROCEDURE

(2022202202220 00 ]|

Control Switch Settings

Starting at memory locations 200, 204, 210, 214, 220, 224, 230
or 234, set all switches as desired. See Section 5.1

Starting Addresses

200
204
210
214
220
224
230
234

Start address for logic test.

Restart address for logic test.

Start address for ''STP2 QUT'', "'SCHMITT TRIG 1'' tests.
Start address for ''STP1 QUT'', "'SCHMITT TRIG 2'' tests.
Start address for "'SCHMITT TRIG 3 IN'', ''ST3 QUT" tests.
Starting address for '‘A EVENT OQUT'' test.

Starting address for 'B EVENT QUT'' test.

Starting address for 'USER LINK'' loop.

Program AND/OR Operatdr Action

1.,
2.
3.
4

5.

Load program into core.

Set switch register to starting address.

Load address.

Set switches to deisred settings - see section 5.1.

IF starting a special [1/0 signal test:
MAKE WIRE LOOP CONNECTION.

Press Start.

SEQ 0005



5.0 OPERATING PROCEDURE SEQ 0006

ttttttReREGEORERCERRORNY

5.1 Switch Register Function

Switch use

S Halt on error
& Loop on test
3 Inhibit error typeout (all tests)
3  Inhibit ''¢'’' typeout (special I/0 signal tests)
0 Bell on error
Loop on error
Loop on test in SWR <7:0>

5.2 Scope Loops

It an error occurs and the user wishes to scoge the error, he (or
she) should set SW15=1 to halt on error, then when the program
halts on error, SW15=0, set SW14=1, To loop on current test, set
SH13=I to inhibit error printout, and press continue on the (PU's
console.

NOTE
For each test in the listing, you will
find a test description. In each
description a probablte SYNC Point is
listed. These Points are listed AS A

GUIDE in order for you to SYNC your
scope to the Signals being generated.

5.3 Program AND/OR Operator Action

5-3.1 Logic Test

fFor each pass through the program "END PASS'' will be printed out
at the end of a pass.

It not inhibited by APT, the program will look for more KW11Ks to
exercise, one pass will exercise all KW11Ks.

5.3.2 Special 1/0 Signal Tests

There are no ''Short Passes'’. FEach pass will iterate 65,324
times. A ''*'' is typed at the end of a pass unless SWR13=1,
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6.0 ERRORS
: tERNNY
6.1 Error Printout

6.1.1

Printout varies with the error detected. The error PC typed out
is he actual location of the error call.

A halt at location °‘'STYPE'+10 when running with no terminal
indicates an error has occurred. To find out the number of the
error, examine Location '‘STSTNM''. This is the item number of the
error. To find out what the error typout would have been GOTO to
the error pnointer table beginning at location "'SERRTB''.

Example
1f we examined Location "'$TSTNM'' and found a 5 (101) we go to
location '‘SERRTB'' and look through the error pointer table until
we found item 5. The information would lLook like:

J1TEM S

EMS sCLOCK B SR DATA ERROR
DH5 ;ERRPC  BSR WAS S/B
DTS sSERRPC ,BSR,$BDDAT ,$GDDAT
DFO ;sALL NUMBERS ARE IN OCTAL FORM
To find out the information specified by DTS

(SERRMC ,BSR,$GDADR,$BDADR) follow these steps:

1. Look uphe address of the label (i.e., SERRPC) in the symbol
table which follows the Listing.

2. Put this address in the witch register and depress the Lload
address switch on the processor's console.

3. Now depress the Examine switch.
4. The data displayed in the data Lights is the information that

would have been printed for his label if you had a
input/output terminal.

6.2 Non-Standard Error HALTS

A HALT MAY OCCUR IF THE PROGRAM DETECTS AN LPA11-KX ERROR.
CHECK THE COMMENTS IN THE LISTING OPFOSITE THE PC KALT,

SEQ 0007



SEQ 0008
7.0 RESTRICTIONS

ket RREOARRAOYE

Jumper W2 must be installed if not jumpered on module.
JUMPER W3, W&, AND WS MUST BE INSTALLED TO RUN SIGNAL TESTS.

Logic Test must be run before any special 1/0 Signal Test.

The program is chainable under XXDP, However only one pass may
be made ( R RLPGCO/1 ).

8.0 MISCELLANEOUS

srERTARNRNAERY

After a power failure occurs, program execution will NOT continue at
the point where the power failure occured.
The program will be restarted.

This program is chainable under XXDP, ACT, or APT.

Logic Test
90 SECONDS if no errors.

8.3.2 Special 1/0 Signal Tests
1.0 Minutes No errors, SW13=0.
Execution times are approximate, as the various PDP-11 (PU's have

varied instruction execution times.
Times quoted were taken from a run on a PDP-11/34.




8.4

USER LINK TO 1/0 DEVICE

A SPECIAL USER LINK HAS BEEN PROVIDED IN ORDER FOR THE
OPERATOR TO EXAMINE OR MODiFY LOCATIONS ON THE LPA11-KX
1/0 BUS. (NOTE: THIS CANNOT BE DONE DIRECTLY.)
PROCEDURE :

1) START THE PROCESSOR AT LOCATION 234

2) THE DIALOG TO EXAMINE A LOCATION IS AS FOLLOWS:

EORD VE
DEVICE ADDRS= "'OCTAL ADDRS''
XXXXXX

WHERE XXXXXX IS THE CONTENTS OF THE SPECIFIED LOC.

3) THE DIALOG TO MODIFY A LOCATION IS AS FOLLOWS:

E OR D IIDIC
DATA= “DATA TO BE DEPOSITED"

4) THE PROGRAM WILL STAY IN THIS LOOP UNTIL THE OPERATOR
1S ;égISHED. AT THIS TIME THE PROCESSOR SHOULD BE
HALTED.

NOTE: THE OPERATORS RESPONSE I35 ENCLOSED IN QUOTES.

SEQ 0009



9.1

9.2

9.2.1

PROGRAM DESCRIPTION

(2222002220202 0 2R q )]

Logic Tests

A complete description of each test is included withing the
listing before each test.

Special External [/0 Signal Tests

LS210 ''STP2 OUT"' to ''SCHMITT RIG 1 IN' Tests

This is a special section devoted for testing and providing scope
Loop capabilities for ''STP2 OUT'' L and ''SCHMITT TRIG 1'' IN.

Wwhen you Load and start at location 210, program control is
transferred here. ''STP2 OUT'' L pulses are generated by "'LO STAT
AHI'H ¢« "BD10"' W (Main. STP2).

Pin Vv ("'STP2 OUT'') §s wired to pin LL (SCHMITT TRIG1) for this
test. ''STP2 OUT'' pulses are received as ''SCHMITT TRIG 1'' pulses
which set clock A's status register bit 15. If an error is
detected, normal error reporting technique. and error switch
register options are used. An ''¢'"'is typed after each 65,324
Loops through the test. SW13=1 will inhibit this feature.

You must wire pins V and LL of J1 together.
Jumper W3 mist be INSTALLED.

Logic test (L + S 200) should be run first.

9.2.¢ LS214 ''STP1 OUT" to "'SCHMITT RIG 2'' H Tests

This is a special test section devoted for testing and providing
scope loop capabilities for ‘'STP2 OUT'' and ‘'SCHMITT TRIGZ'' IN.

Wwhen you load and start at Llocation 214, program control is
transterred here. ‘'STP1 OUT'' L pulses are generated by "LD STAT
A HI" ¢ "BD12'" H (mIn S ). Pin DD (''STP1 OUT') is wired to pin
BB (''SCHMITT TRIG 2') _for this test. ''STP1 OUT' pulses are
received as "'SCHMITT RIG 2'' pulses which will clear clock A's
count register if mode 3 is selected. If an error is detected,
normal error reporting technique. and error switch register
options are used. “e'' is typed after each 65,324 loops
through the test. SW13=1 will inhibit this feature.

You must wire pins DD and BB of J1 together.
Jumper W4 must be installed.

Logic tests (L + S at 200) should be run first.

SEQ 0010
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9.2.3 LS2¢0 "'SCHMITT TRIG 3" in, ''ST3 QUT'' Tests

This is a special section devoted for testing and providin? scope
LOOPS  CAPABILITIES FOR  ''SCHMITT  TRIG 3'° AND  ''ST3 OUT'.

When you Load and start at Llocation 220, program control
transferred here. ''STP1" pulses are generated Dy ''LD STAT A H,"
+ 'BD12'° H (main STP1). Pin dd (''STPY1 QUT') is wired to pin T
("'SCHMITT RIG 3" "'SCHMITT TRIG 3" pulses ﬂive us "'ST3 out"’
pulses. Pin L (STS oUT™) is wired to pin BB ("SCHMITT TRIG2'™,
and "'SCHMITT TRIG 2'' will set clock A's status register bit 7.

1t an error is detected, normal error reporting technique. and
error switch register options are used. An ''*'' is typed after
:ach 65,326 Loops through the test. SW13=1 will inhibit this
eature,

You must wire pins DD to T of J1 _together, as well as pins L to BB
of J1 together. Jumpers W& and W5 must also be installed.

Tests LS210 and LS214 should be run first.

9.2.64 LS224 "'A EVENT OUT'' Test

This is a §chial section devoted for testing and providing scope
Loop capabilities for ''A EVENT OUT". -

When you load and start at location 224, program control is
transferred here. °''A EVENT OUT'' pulses are generated by clock A
overflows. Pin VYV _("'A EVENT OUT'") is wired to pin BB {''SCHMITY
TRIG 2'). ‘'SCHMITYT TRIG 2'' pulses will set clock A's CSR bit 7.

It an error is detected, normal erroporting technique. and error
switch register options are wused. An "' is typed after each
65,324 loops through the test. SW13=1 will inhibit this feature,

You must wire pins VV and B8 of J1 together.
Jumper W4 must also be installed.

Test LS210 should be run first.

9.2.5 LS230 'B EVENT OUT' Test

This is a special section devoted for testing and providing scope
loop capabilities for ‘B EVENT OUT'.

When you Load and start at location 230, program control is
transterred here. ‘B EVENT OUT'' pulses are generated by clock B
overflows. Pin TT (‘B EVENT OUT'") is wired to pin BB ("'SCHMITT
TRIG 2''). '‘SCHMITT TRIG 2'' pulses will set clock A's (SR bit 7.
And error switch register options are wused. An_''+'" is typed
after each 65,324 Lloops through the test. SW13=1 will inhibit
this feature.

You must wire pins TT and BB of J1 together.
Jumper W& must be installed also.

Test LS210 should be run first.

SeEa 0011




DIAGNOSTICS FOR THE LPA11 ARE WRITTEN AT THREE LEVELS: (1)
TOTAL POP=-11 SYSTEM, (2) LPA11 SYSTEM; AND, (3) LPA11 OPTIONS.

LEVEL 1, 1S DESIGNED TO ISOLATE A FAILURE TO THE LPA11 SYSTENM.
ALL OPTIONS ON THE PDP-11 ARE EXERCISED.

LEVEL 2 DIAGNOSTICS ISOLATE A FAILURE TO THE INDIVIDUAL OPTION
WITHIN THE LPA11, THE LEVEL 2 DIAGNOSTIC IS MD-11-DRLPA. WHEN

THE USER _RUNS DRLPA HE CAN GENERALLY TELL WHICH OPTION DIAGNOSTIC
(LEVEL 3) TO RUN NEXT. MB254 AND MB200-YC ERRORS MAY ‘'LOOK'
ALIKE AND DRLPA MAY NOT BE ABLE TO DISTINGUISH BETWEEN THEM.
ARBITRATION ERRORS WILL NOT BE OETECTED BY THIS DIAGNOSTIC.

LEVEL THREE DIAGNOSTICS AID IN DETERMINING [F THE ERROR WAS [N
FACT ON THE OPTION THE DRLPA SPECIFIED. THE USER MAY ‘'LOOP’* ON
THE ERROR. WITHIN LEVEL THREE, THERE ARE TWO GROUPS  OFf
DIAGNOSTICS. THE FIRST GROUP REQUIRES NO ''EXTRA'' WORK BY THE
USER IN ORDER TO RUN. GROUP ‘''A'" DIAGNOSTICS DO NOT CHECK
ANBITRATION, AND REQUIRE EXTRA TIME FOR EXECUTION. THE SECOND
GROUP (GROUP 'B'‘) REQUIRES THAT THE USER RECONFIGURE THE POP=-11
S;iTgHilo gngs RECONF IGURATION INVOLVES CABLING THE UNIBUS TO THE
L ' L]

THE DIAGNOSTIC FOR THE MB254 FALLS INTO THE GROUP 'B'" CATAGORY.

SEQ 0012
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THE LPAY1-KX DIAGNOSTIC KIT WILL INCLUDE:

OPTION

LPAT1-KX
n8254
AA11=K

AR11

PR11=K

KW11-K

LPS-11

AD11-K

M8200-v(

DIAG. #

MD=11-CRLPA
MD=-11-CRLPM
MD-11-CRLPB
MD-11-DZAAC
MD-11-CRLPC
MD-11-CRLPD
MD-11-CRLPE
MD-11-DZARA
MD-11-DZARB
MD-11-DZARC
MD-11-CRLPF
MD-11-DZDRG
MD-11-CRLPG
MD-11-DZKWK
MD-11-CRLPH
MD-11-CRLPI
MD~11-CRLPJ
MD-11-DZLPC
MD-11-DZLPD
MD-11-DZLP]
MD-11-CRLPK
MD-11-DZADL
MD-11-CRLPL
MD-11-CRLPM

DIAG. TITLE

LPA11=K SYSTEM EXER.
m8254 (IPBM) FIELD DIAG.

LPA/AA11-K DIAG.
AA11-K DIAG.
LPA/ART1 DIAG. M
LPA/AR11 DIAG. #2
LPA/ARI1 DIAG. #3
AR11 DIAG., M

AR11 DIAG. #2

AR11 DIAG. #3
LPA/DR11-X DIAG.
DR11-K DIAG.
LPA/KW11-K DIAG.
KW11-K DIAG.
LPA/LPS11 DIAG. M
LPA/LPS11 DIAG. #2
LPA/LPS11 DIAG. #3
LPS11 DIAG. M
LPS11 DIAG. #2
LPS11 DIAG. #3
LPA/AD11-K DIAG.
AD11-X DIAG.

LPA/DMC-11 DIAG. TST I
LPA/DMC=11 DIAG. TST [I

SEQ 0013




THIS IS A HISTORY FILE OF CRLPG- f

THE ''C'" VERSION SOURCE ONLY HAS THE B TO C VERSION CHANGES
THE B1G CHANGE 1S IN THE ''CRLPA.MAC'' FILE THAT HANDLES THE
NEW VERSION OF THE MICRO-CODE IN THE LPA-1

THE ''A'" VERSION HAD SEVERAL PROBLEMS WHEN DEALING WITH LS204

AND LS210 THRU LS230. THE FIRST WAS THAT LS204 FAILED TO CLEAR

A LOCATION ''.DVLS'', WHICH INDICATED THE MICRO-CODE WAS LOADED

AND RUNNING <AFTER A RESTART IS IS NOT RUNNING DUE TO "INIT'>,
THIS PROBLEM IS ALSO COMMON TO LS210 THRU LS230.

THE SECOND PROBLEM 1S THAT LS210 HAD A DESIGN FLAW <REALLY ONLY A

ONE LINE TYPING REVERSAL> JAN 1979 R. SHOOP
HISTORY fILF OF DRLPG-A

PRODUCT COODE: MAINDEC-11-DIKWK-A

PRODUCT NAME: KW11-K DIAGNOSTIC TEST

DATE: FEBRUARY 1976

MAINTAINER: DIANOSTIC GROUP

PRODUCT CODE: MAINDEC-11~DRLPG-A

PRODUCT NAME: LPA/KW11=K DIAGNOSTIC TEST

DATE: JANUARY 1978

MAINTAINER: DIAGNOSTIC GROUP

REASON FOR DEVELOPMENT:

1) TO ENABLE THE OPERATOR TO CHECK OUT THE KW11-K OPTION
WHEN IT IS ON THE LPA11-KX 1/0 BUS.

CHANGES MADE:

1) TOOK OUT CERTAIN TESTS FxOM ORIGINAL DIAGNOSTIC (I.E.
INTERRUPTS,TIME DEPENDENT CODE).

2) REPLACED DIRECT LINKS TO DEVICE WITH MACRO CALLS TO THE
KMC-11 MICRO CODE. KMC~11 M7_RO CODE (FILE:DRLPX2) HANDLES
DIRECT COMMUNICATIONS WITH (HE DEVICE.

FILE: DRLPA.MA(C

CONTAINS MACRO LINKS BETWEEN PDP-11 CODE AND KMC-11
MICRO CODE. FILE: DRLPX2 NEEDS TO BE ASSEMBLED WITH
DRLPG (SEE .CTL FILE).

FILE: DRLPX2

MICRO CODE FILE THAT GETS LOADED INTO THE KMC-11
VIA ROUTINES IN DRLPA.MAC.
DRLPX2.P11 IS ASSEMBLED WITH MACY11 (ONLY) AS ANY OTHER
P11 FILE. THE RESULTS OF ITS ASSEMBLY IS A .0BJ
MODULE AS WAS THE RESULT OF THE ASSEMBLY OF THE
DIAGNOSTIC .P11 FILE. BOTH .0BJ FILES GET LINKED
WITH LNKX11 (ONLY).
FILE: DRLPG.CTL
THIS FILE EXPLAINS SEQUENCE OF ASSEMBLES AND LINKS.
IT 1S IN TOPS=20 FORMAT.

L]
I4

SEQ 0014

or-
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LNKX11 V023  24-0CT-80  9:45 SEQ 0015
#CRLPGC.BIN/B:42000,CRLPGC.MAP=CRLPGC,CRLPX2/E

LOAD MAP
IDENT: V10158

TRANSFER ADDRESS: 000001
LOW LIMIT: 042000
HIGH LIMIT: 046000

teeeeaREE RS

MODULE LPA

SECTION ENTRY  ADDRESS SIZE

<. ABS.> 000000 000000
DRLPX2 042000

< > 042000 000000

1 3323328234

MODULE ORLPX2

SECTION ENTRY  ADDRESS SIZE

< > 042000 9000000
<ABCODE> 042000 004000

RUN-TIME: 1 SECONDS
2K CGRE USED
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CRLPGC.PYT

LPA=KW11K DIAGNOSTIC MD-11-CRLPG-C
18-AUG-80 09:15

TABLE OF CONTENTS

OPERATIONAL SWITCH SETTINGS
TRAP CATCHER
BASIC DEFINITIONS
ACT11 HOOKS
APT PARAMETER BLOCK
COMMON TAGS
APT MA]LBOX-ETABLE
ERROR POINTER TABLE
PROGRAM START
INITIALIZE THE COMMON TAGS
*

¢ PHASE 1 CLOCKS A+B BASIC LOGIC TESTS.
]

17
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143
T44
145
146
147
150
151
152
153

«TEST
*TEST
*TEST
«TEST
«TEST
«TEST
«TEST
«TEST
*TEST
«TEST
«TEST
«TEST
«TEST
*TEST
«TEST
«TEST
*TEST
«TEST
«TEST
«TEST
«TEST
*TEST
*TEST
«TEST
«TEST
*TEST
*TEST
«TEST
*TEST
«TEST
«TEST
«TEST
«TEST
«TEST
«TEST
«TEST
«TEST
«TEST
*TEST
*TEST
*TEST
eTEST
eTEST

THE ADDRESSABILITY OF CLOCK ADDRESS
THAT CLOCK A BUFFER CAN BE WRITTEN

INTO

D 2
MACY11 30G(1063) 24-0CT-80 09:38

THAT CLOCK A BUFFER CAN BE WRITTEN TO A ZERO
THAT CLOCK A'S STATUS CAN BE WRITTEN AND READ
THAT CLOCK B'S STATUS REGISTER CAN BE WROTE/READ
THAT CLOCK B'S BUFFER REGISTER CAN BE WROTE/READ

THAT CLOCK A STATUS REGISTER BIT 15
THAT CLOCK A STATUS REGISTER BIT 14
THA~ CLOCK A STATUS REGISTER BIT 13
THAT CLOCK A STATUS REGISTER BIT 9
THAT CLOCK A STATUS REGISTER BIT 8
THAT CLOCK A STATUS REGISTER BIT 7
THAT CLOCK A STATUS REGISTER BIT 6
THAT CLOCK A STATUS REGISTER BIT 5
THAT CLOCK A STATUS REGISTER BIT 3
THAT CLOCK A STATUS REGISTER BIT 2
THAT CLOCK A STATUS REGISTER BIT 1
THAT CLOCK A STATUS REGISTER BIT 0
THAT CLOCK A BUFFER REGISTER BIT 0
THAT CLOCK A BUFFER REGISTER BIT 1
THAT CLOCK A BUFFER REGISTER BIT 2
THAT CLOCK A BUFFER REGISTER BIT 3
THAT CLOCK A BUFFER REGISTER BIT 4
THAT CLOCK A BUFFER REGISTER BIT 5
THAT CLOCK A BUFFER REGISTER BIT 6
THAT CLOCK A BUFFER REGISTER BIT 7
THAT CLOCK A BUFFER REGISTER BIT 8
THAT CLOCK A BUFFER REGISTER BIT 9
THAT CLOCK A BUFFER REGISTER BIT 10
THAT CLOCK A BUFFER REGISTER BIT 1
THAT CLOCK A BUFFER REGISTER BIY 12
THAT CLOCK A BUFFER REGISTER BIT 13
THAT CLOCK A BUFFER REGISTER BIT 14
THAT C_JCK A BUFFER REGISTER BIT 15
THAT CLOCK B STATUS REGISTER BIT 11
THAT CLOCK B STATUS REGISTER BIT 7
THAT CLOCK B STATUS REGISTER BIT 6
THAT CLOCK B STATUS REGISTER BIT 5
THAT CLOCK B STATUS REGISTER BIT 4
THAT CLOCK B STATUS REGISTER BIT 3
THAT CLOCK B STATUS REGISTER BIT 2
THAT CLOCK B STATUS REGISTER BIT 1
THAT CLOCK B STATUS REGISTER BIT 0

CAN BE SET AND CLEARED
CAN BE SET AND CLEARED
CAN BE SET AND CLEARED

CAN
CAN
CAN
CAN
CAN
CAN
CAN
CAN
CAN
CAN
CAN
CAN
CAN
CAN
CAN
CAN
CAN
CAN
CAN

CAN BE SET AND CLEARED
AN BE SET AND CLEARED
AN BE SEY AND CLEARED
AN BE SET AND CLEARED
AN BE SET AND CLEARED
AN BE SET AND CLEARED
AN BE SET AND CLEARED

b Inlalalelialel

BE

SEY
SET
SET
SET
SET
SET
SET
SET
SET
SETY
SET
SET
SET
SET
SET
SET
SET
SET
SET

AND
AND
AND
AND
AND
AND
AND
AND
AND
AND
AND
AND
AND
AND
AND
AND
AND
AND
AND

AND
AND
AND
AND
AND
AND
AND
AND

CLEARED
CLEARED
CLEARED
CLEARED
CLEARED
CLEARED
CLEARED
CLEARED
CLEARED
CLEARED
CLEARED
CLEARED
CLEARED
CLEARED
CLEARED
CLEARED
CLEARED
CLEARED
CLEARED

CLEARED
CLEARED
CLEARED
CLEARED
CLEARED
CLEARED
CLEARED
CLEARED

SEQ 0016
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CRLPGC.PWY
(6)

(6)
(6)

3051

LPA-KW11K DIAGNOSTIC MD-11-CRLPG-C

E 2
MACY11 30G6(1063) 24-0CT-80 09:38
TABLE OF CONTENTS
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154 *TEST THAT CLOCK B BUFFER REGISTER BIT O CAN BE SET AND CLEARED
155 *TEST THAT CLOCK B BUFFER REGISTER BIT 1 CAN BE SET AND CLEARED
156 *TEST THAT CLOCK B8 BUFFER REGISTER BIT g CAN BE SET AND CLEARED
157 *TEST THAT CLOCK B BUFFER REGISTER BIT 3 CAN BE SET AND CLEARED
160 *TEST THAT CLOCK B BUFFER REGISTER BIT & CAN BE SET AND CLEARED
161 *TEST THAT CLOCK B BUFFER REGISTER BIT 5 CAN BE SET AND CLEARED
162 *TEST THAT CLOCK B BUFFER REGISTER BIT 6 CAN BE SET AND CLEARED
163 «TEST THAT CLOCK B BUFFER REGISTER BIT 7 CAN BE SET AND CLEARED
*

*+ PHASE 2 ADVANCED BASIC LOGIC TESTS
*
164 *TEST THAT CLOCK A'S COUNT REGISTE

R IS CLEAR
165 «TEST CLOCK A'S COUNT REGISTER WITH 125252 PATTERN
166 «TEST CLOCK A'S COUNT REGISTER WITH 052525 PATTERN
167 *TEST THAT CLOCK B'S COUNT REGISTER IS CLEAR
170 «TEST CLOCK B'S COUNT REGISTER WITH 125 PATTERN

\§4 «TEST CLOCK B'S COUNT REGISTER WITH 252 PATTERN

172 «TEST THE SETTING OF MAIMNTENANCE STP1 IN CLOCK A BIT 15 TO _SET

173 «TEST THAY BITO0 IN CLOCKF A STATUS REG. WILL SET WHEN BIT13 AND MAIN. STP1
174 «TEST THAT CLOCK A WILL INCREMENT - MODE O - RATE STP1 FIRST COUNT TEST
175 «*TEST THE ABILITY OF CLOCK A TO COUNT FROM 2ERO TO OVERFLOW USING M STP1'S
*

* PHASE 3 CLOCK A COUNT FUNCTION TESTS

*

176 *TEST THAT CLOCK A OVERFLOW WILL OCCUR

177 «TEST IN CLOCK A THAT OVERFLOW IN MODE O CAUSE CLEARING OF ''ENB CNTR'' F/F
1100 «TEST THE ABILITY OF CLOCK A TO COUNT AT 1MHZ RATE PART 1

7101 «TEST THE ABILITY OF CLOCK A TO COUNT AT 100KHZ RATE PART 1

1102 «TEST THE ABILITY OF CLOCK A TO COUNT AT 10KHZ RATE PART 1

1103 *TEST THE ABILITY OF CLOCK A TO COUNT AT 1KHZ RATE PART 1

1104 «TEST THE ABILITY OF CLOCK A TO COUNT AT 100HZ RATE PART 1

1105 «TEST THE ABILITY OF CLOCK A TO COUNT AT LINE-FREQ RATE PART 1

1106 «TEST THAT CLOCK A DOESN'T COUNT WHEN NO RATE IS SELECTED

1107 *TEST THAT CLOCK A'S COUNT REG ISN'T LOADED WHEN CLOCK A IS ENABLED

110 *TEST THAT CLOCK A IN MODE 1 DOES NOT CLEAR ENABLE ON OVERFLOW

*TEST THAT A CLOCK A 'BUFFER TO COUNT REG'' DOESN'T TAKE PLACE ON A MODE 2 OVERFLOW
*TEST THAT CLOCK A MODE 2 + MAINTENANCE ST2 SET MODE FLG

«TEST THAT PATTERN 052525 CAN BE XFERRED BETWEEN A'S COUNT-BUFFER REGS

«TEST THAT PATTERN 125252 CAN BE XFERRED BETWEEN A'S COUNT-BUFFER REGS

*TEST THAT A°'S COUNT REGISTER ISN'T CLEARED IN MODE 1 WHEN STP2 IS GENERATED
*TEST THAT A'S COUNT REGISTER ISN'T CLEARED IN MODE 2 WHEN STP2 IS GENERATED
+TEST THAT MODE 3 + ''STP2'' CLEARS A'S COUNT REGISTER.

*TEST THE AUTODECREMENT FEATURE OF CLOCK A'S BUFFER

*TEST THAT CLOCK A'S 1 MHZ CLK CAN BE DISABLED

HASE &4 CLOCK B COUNT FUNCTION TESTS

¢TEST THAT CLOCK B WILL COUNT ONCE FIRST CLOCK B COUNT
«TEST THE ABILITY IF CLOCK 8 TO COUNT FROM ZERO TO OVERFLOW
¢TEST THAT CLOCK B CAN GENERATE AN OVERFLOW

«TEST THE INIT, ABILITY OF CLOCK B8'S COUNT REG.

*TEST THAT CLOCK B DOESN'T COUNT WHEN NO RATE IS SELECTED
«TEST THE ABILITY OF CLOCK B TO COUNT AT 1MHI PART 1

«TEST THE ABILITY OF CLOCK B TO COUNT AT 100KHZ PART 1
«TEST THE ABILITY OF CLOCK B TO COUNT AT 10KHZ PART 1

«TEST THE ABILITY OF CLOCK B TO COUNT AT 1KHZ PART 1

— el el e il ) ) cmd b

PN = b md b b b
=S O NN NN —

gt e o = =t B B B e el ) o —4 —4 =
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WAMNMO N NN RO
N =2 D NONWN B NN

SEQ 0017
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3052 T133  «TEST THE ABILITY OF CLOCK B TO COUNT AT 100HZ PART 1

3053 T13%  «TEST THE ABILITY OF CLOCK B TO COUNT AT LINE=FREQ PART 1

gg?g T135  «TEST THE 'FEED B TO A" 24 BIT COUNTER FEATURE OF CLOCKS A + B
*

gllg « PHASE 6 CLOCK A+B ADVANCE TESTING
*

3136 T136  «TEST THAT THE TRAILING EDGE OF STP1 WILL INCR. COUNTER

3258 T137  «TEST CLOCK A'S 100KHZ DIVIDER

3259 T140  *TEST CLOCK A'S 10KHZ DIVIDER

3260 T141  «TEST CLOCK A'S 1KWZ DIVIDER

3261 11642  *TEST CLOCK A'S 100MZ OIVIDER

3362 1143 «TEST CLOCK B'S 100KHZ DIVIDER

3363 T144  *TEST CLOCK B'S 10KH2 DIVIDER

3364 T145  «TEST CLOCK B'S 1KHZ DIVIDER

gggg T146  +TEST CLOCK B'S 100HZ DIVIDER

3395 END OF PASS ROUTINE

3396 .

3397 « SPECIAL 1/0 SIGNAL TESTS

3393 .

34,34 . “'STP2 OUT'' TO ''SCHMITT TRIG 1 IN'' TESTS

3484 i "“STP1 OUT'' TO '"SCHMITT TRIG 2'' H TESTS

3538 . “SCHMITT TRIG 3" IN, *'ST3 OUT'' TESTS

3590 . A EVENT OUT*' TEST

3643 . '® EVENT OUT'* TEST

3733

g;gg «SYSMAC ROUTINES

3737 BINARY TO OCTAL (ASCII) AND TYPE

3738 ERROR HANDLER ROUTINE

3739 ERROR MESSAGE TYPEOUT ROUTINE

3740 CONVERT BINARY TO DECIMAL AND TYPE ROUTINE

3761 SCOPE HANDLER ROUTINE

3742 READ AN OCTAL NUMBER FROM THE TTY

3743 TTY INPUT ROUTINE

3744 TYPE ROUTINE

3745 APT COMMUNICATIONS ROUTINE

3746 POWER DOWN AND UP ROUTINES

3751 TRAP DECODER

3 TRAP TABLE

SEQ 0018




-

LPA-XWI1K UIAGNOST

CRLPAB.MAC

WA = O P00 ~NO NI NN

NS D b b o

54

26-$

1C
EP-

MD-
80

11-CRLPG-C

1

1
3

G 2
MACY11 306G(1063) 24-0CT-80 09:38 PAGE 1

.REM (
CRLPAB.MAC
WELCOME, THIS DIAGNOSTIC IS ONE IN A SERIES OF DIAGNOSTIC
DESIGNED IN ORDER TO ALD YOU IN TESTING THE LPA-=11XX OPTION,
| HOPE THAT YOU HAVE READ THE DOCUMENTATION SECTION OF THIS
DIAGNOSTIC. [IFf YOU WAVE,YOU KNOW ABOUT ALL OF THE DIAGNOSTICS
THAT ARE AVAILIBLE FOR TESTING THE LPA SYSTEM.

600D LuCK !

C
.GLOBL DRLPX?

SEQ 0019
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We e e Be %e B,

LTITLE MMAST _MAC
IDENT /4.01/

LPA11-K MICRO CODE
CHARLES A. SAMUELSON
NOVEMBER, 1977
TITLE DMAST.MA(C
LIDENT /4.01/
LPA11-K MICRO CODE

CHARLES A, SAMUELSON
NOVEMBER, 1977

SEQ 0020
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1169 -REM '

THIS IS A LIST OF TESTS DELETED FROM THIS DIAGNOSTIC.
THESE TEST COULD NOT BE DONE THROUGH THE LPA-11.

TEST THE LOW BYTE OPERATION OF CLOCK A'S STATUS
TEST THE HIGH BYTE OPERATION OF A'S STATUS REGIS
TEST THE LOW BYTE OPERATION OF B'S STATUS REGIST
TEST THE HIGH BYTE OFERATION Of B'STATUS REGISTE
TEST THAT INIT CLEARS STATUS REGISTER A

TEST THAT INIT CLEARS BUFFER REGISTER A

TEST THAT INIT CLEARS STAfUS REGISTER B

TEST THAT INIT CLEARS BUFFER REGISTER B

TEST THAT A'S COUNT REGISTER ;S CLEARED BY INIT
TEST THAT CLOCK A WILL INTR. AND TO THE RIGHT VECTOR

TEST THAT CLOCK A WILL INTR. WHEN CPU PSW = CLK INTR LEV -1
TEST THAT CLOCK A WILL NOT INTR. WHEN CPU PSW = (LK INTR LEVEL
TEST THAT ST1 WILL CAUSE CLOCKC A TO INTER.

TEST THAT CLOCK A CVERFLOW WILL CAUSE AN INTR.

TEST THAT A CLGCk A COUNTER BUFFER WILL CAUSES AN INTR.

TEST THAT CLOCK B WILL INTR. AND TO THE RIGHT VECTOR

TEST THAT CLOCK B WILL INTR. WHEN CPU PSW=CLK INTR LEV -1

TEST THAT CLOCK B WILL NOT INTR. WHEN CPU PSW=CLK INTR LEVEL
TEST THAT A CLOCKB QOVERFLOW WILL CAUSE AN INTR.

TEST CLOCK A'S REPEATIBILITY AT 1MHZ RATE

TEST CLOCK A'S REPEATIBILITY AT 100KHZ RATE

TEST CLOCK A'S REPEATIBILITY AT 10KHZ RATE

REGISTER
TER
ER
R

OV OOV OOVOVOCOPCOCOA IOV A0 N N NNNNN~NN

VB NN =2 OO0 NO NS W 2OV NS WN =2 OO0 NN N

TEST CLOCK A'S REPEATIBILITY AT 1KHZ RATE

TEST CLOCK A'S REPEATIBILITY AT 100HZ RATE

TEST CLOCK B'S REPEATIBILITY AT 1MHZ RATE

TEST CLOCK B'S REPEATIBILITY AT 100KHZ RATE

TEST CLOCK B'S REPEATIBILIIY AT 10KHZ RATE

TEST CLOCK B'S REPEATIBILITY AT 1KHZ RATE

TEST CLOCK B'S REPEATIBILITY AT 100HZ RATE

TEST THAI “INIT'' CLEARS B'S 100KHZ DIVIDE BY 10 CHIPS

—l—.-‘_‘—.—d—l—l-‘-‘—l—.—l—.—..—l-ﬂ—l—.—l—l-‘—l-‘—l—‘—.—l—-l_l..-l-.l.—b-—._-..-l—‘
NNNNNN'\'N_Q_._._._._._-_._...n..n..a_a_...a_a_b-l-a_l_-I_-I_-I._b._b—b.-l_l-i

o
-~

TITLE LPA-KW11K DIAGNOSTIC MD-11-CRLPG-C
;*COPYRIGHT (C) 1980

:*DIGITAL EQUIPMENT CORP,

; *MAYNARD, MASS. 017564

T
: *PROGRAM BY EDWARD C. BADGER REV B BY R. SHOOP
-

:*THIS PROGRAM WAS ASSEMBLED USING THE PDP=11 MAINDEC SYSMAC
; *PACKAGE (MAINDEC-11-DZQAC-C3), JAN 16, 1977,

| 4
000001 $TN=1
"SBTTL OPERATIONAL SWITCH SETTINGS
. &

b SWITCH USE

:f --------------------------
.t 15 HALT ON ERROR

. 14 LOOP ON TEST

.t 13 INHIBIT ERROR TYPEOUTS

P Y o L. Y e Y ettt lala e el
- el b b b wd ) b i ad d d d wdd and )
- et et o St (I W N P N N P N N
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OPERATIONAL SWITCH SETTINGS SEQ 0022

(1) v 10 BELL ON ERROR

(1) i 9 LOOP ON ERROR

(1) i 8 LOOP ON TEST IN SWR<7:0>
1%?? "SBTTL TRAP CATCHER

(1) 000000 .=0

(1) s«ALL UNUSED LOCATIONS FROM & = 776 CONTAIN A '".+2,HALT"

(1) “+SEQUENCE TO CATCH ILLEGAL TRAPS AND INTERRUPTS

(1) S«LOCATION O CONTAINS O TO CATCH IMPROPERLY LOADED VECTORS

(1) 000174 =174

(1) 000174 000000 DISPREG: .WORD O : :SOFTWARE DISPLAY REGISTER

(1) 000176 000000 SWREG: .WORD O S SOFTWARE SWITCH REGISTER
1210 000200 .=200
}g}} 000200 000137 001726 IMP AFSTART ;GO TO STARTING ADDRESS OF PROGRAM
1213 000204 000137 002462 JMP AFRSTART :GO TO RESTART ADDRESS.
1214 000210 000137 022450 JMP arLs210 16O TO SPECIAL TEST #1.
1215 000214 000137 022646 JMP arLs214 16O TO SPECIAL TEST #2.
1216 000220 000137 023062 JMP arLs220 :GO TO SPECIAL TEST #3.
1217 000226 000137 023246 JMP arLS224 160 TO SPECIAL TEST #4.
}%}g 000230 000137 023454 JMP arLs230 26O TO SPECIAL TEST #S.
1%$? .SBTTL BASIC DEFINITIONS

(1) :«INITIAL ADDRESS OF THE STACK POINTER %+ 1100 s+

(1) 001100 STACK= 1100

(1) _EQUIV EM1,ERROR ::BASIC DEFINITION OF ERROR CALL

g}; "EQUIV 10T.SCOPE ::BASIC DEFINITION OF SCOPE CALL
(1) ;*MISCELLANEOUS DEFINITIONS

(1) 000011 HT= 1 ::CODE FOR HORIZONTAL TAB

(1) 000012 LF= 12 ::LODE FOR LINE FEED

(1) 000015 CR= 15 ::CODE FOR CARRIAGE RETURN

(1) 000200 CRLF= 200 ::CODE FOR CARRIAGE RETURN-LINE FEED

(1) 177776 PS= 177776 < :PROCESSOR STATUS WORD

(1) .EQUIV PS,PSW

(1) 177774 STKLMT= 177774 ::STACK LIMIT REGISTER

(1) 177772 PIRQ= 177772 : :PROGRAM INTERRUPT REQUEST REGISTER

(1) 177570 DSWR= 177570 . :HARDWARE SWITCH REGISTER

g}; 177570 DDISP= 177570 : :HARDWARE DISPLAY REGISTER

(1) : *GENERAL PURPOSE REGISTER DEFINITIONS

(1) 000000 RO= %0 : :GENERAL REGISTER

(1) 000001 R1= 11 < :GENERAL REGISTER

(1) 000002 R2= X2 : sGENERAL REGISTER

(1) 000003 R3= 13 : :GENERAL REGISTER

(1) 000004 R&= 1% s :GENERAL REGISTER

(1) 000005 RS= 15 :GENERAL REGISTER

(1) 000006 R6= 16 : :GENERAL REGISTER

(1) 000007 R7= 17 : :GENERAL REGISTER

(1) 000006 SP= 16 $STACK POINTER

g}; 000007 P(= X7 : :PROGRAM COUNTER

(1) ;*PRIORITY LEVEL DEFINITIONS

(1) 000000 PRO= 0 :sPRIORITY LEVEL 0

(1) 000040 PR1= 40 “'PRIORITY LEVEL 1
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(1) 000100 PR2= 100 ::PRIORITY LEVEL ¢

(1) 000140 PR3z 140 ::PRIORITY LEVEL 3

(1) 000200 PR4= 200 s:PRIORITY LEVEL 4

(1) 000240 PRS= 240 :sPRIORITY LEVEL 5

) 000300 PR&= 300 ::PRIORITY LEVEL 6

2}; 000340 PR7= 340 ::PRIORITY LEVEL 7

(1 :#"'SWITCH REGISTER' SWITCH DEFINITIONS

(1) 100000 SWw15= 100000

(1) 040000 sWwié= 40000

1) 020000 SW13= 20000

(1) 010000 sWwi2= 10000

(1) 004000 sWwil= 4000

(1) 002000 sWwi0= 2000

(1) 001000 sw09= 1000

1) 000400 Sw08= 400

(1) 000200 swi?7= 200

(1) 000100 swo6= 100

(1) 000040 SWisS= 40

1) 000020 SWwo4e= 20

(1) 000010 SWwo3= 10

(1) 000004 SWw02= &

(1) 000002 SWwol= 2

(1) 000001 Swo0= 1

(1) EQUIV SW09,SW9

M) EQUIV SWO08,Sw8

M) EQUIV SWO07,Sw?

(1) EQUIV SW06,SWé

) EQUIV SWO0S5,SWS

) EQUIV SW04,SWé

(1) EQUIV SWO03,Sw3

1) EQUIV SW02,Sw?

Q) EQUIV SWO01,Sw1

2}; EQUIV SW00,Sw0

(1) ;*DATA BIT DEFINITIONS (BIT00 TO BIT1S)

) 100000 BIT15= 100000

(1) 040000 BIT14= 40000

1) 020000 BIT13= 20000

A1) 010000 BIT12= 10000

(1) 004000 8IT11= 4000

) 002000 81710= 2000

) 001000 81709= 1000

Q) 000400 81708= 400

(1) 000200 B81107= 200

(1) 000100 8IT06= 100

1) 000040 BIT05= 40

(1) 000020 BIT04= 20

(1) 000010 BIT03= 10

(1) 000004 BIT02= 4

1) 000002 BIT01= 2

(1) 000001 BIT00= 1

1) .EQuIlv 8IT109,BIT9

) .EQUIV BIT08.B178

(1) EQulv BITQ7,BIT7

(1) EQUIV BIT06.B1T6
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LPA-KW11K DIAGNOSTIC MD-11-CRLPG-C MACY11 306(1063)
CRLPGC.P11 18-AUG-80 09:15 BASIC DEFINITIONS SEQ 0024
1) .EQUIV BIT05,BITS
.EQUIV BIT04,BITS
.EQUIV BIT03,BIT3
.EQUIV BIT02,BIT2
EQulv BIT01,BITY

.EQUIV BIT00,BITO
+*BASIC "'CPU"’ TRAP VECTOR ADDRESSES

1)
(1)
1)
(1)
1)
¥
1) 000004 ERRVEC= & ;s TIME OUT AND OTHER ERRORS
1) 000010 RESVEC= 10 :sRESERVED AND ILLEGAL INSTRUCTIONS
(1) 000014 TBITVEC=14 $'T" BIY
(1) 000014 TRTVEC= 14 ;s TRACE TRAP
1) 000014 BPTVEC= 14 : ;BREAKPOINT TRAP (BPT)
1) 000020 JOTVEC= 20 ::INPUT/OUTPUT TRAP (IQT) #«SCOPEre
(1) 000024 PWRVEC= 24 ;s POWER FAIL
(1) 000030 EMTVEC= 30 :sEMULATOR TRAP (EMT) #+ERRQORw+
(1) 000034 TRAPVE (=34 ::"'TRAP'' TRAP
(1) 000060 TKVEC= 60 ::T1Y KEYBOARD VECTOR
(1) 000064 TPVEC= 64 ;s TTY PRINTER VECTOR
(1) 000240 PIRQVE(C=240 ; sPROGRAM INTERRUPT REQUEST VECTOR
1221 170404 ABASE= 170404
1222 000344 AVECT1= 344
}%gg 000006 APRIOR= 6
1%‘; .SBTTL ACT11 HOOKS
(2) R R AN NP AR PR AR AR R RN RN RN E AR R AT RN NER PRIV
(1) ;HOOKS REQUIRED BY ACT1
(1) 000234 $SVPC=, :SAVE PC
(1) 000046 .=4b
(1) 000046 022414 SENDAD ;:1)SET LOC.46 TO ADDRESS OF SENDAD IN .SEOP
(1) 000052 .=52
(1) 000052 000000 .WORD 0 :;2)SET LOC.52 TO ZERO
(1) 000234 .=$SVPC :s RESTORE PC
1276 001000 .=1000
1%:; LSBTTL APT PARAMETER BLOCK
(2) R R R L L L R LR R ihl s
1 ;SET LOCATIONS 24 AND 44 AS REQUIRED FOR APT
(2) N L e T A A L L A A LA AL AL R LRl
(1) 001000 .$X=.  ;;SAVE CURRENT LOCATION
(1) 000024 =24 ::SET POWER FAIL TO POINT TO START OF PROGRAM
(1) 000026 000200 200 ;:FOR APT START UP
(1) 000044 .=hé s:POINT TO APT INDIRECY ADDRESS PNTR.
(1) 000044 001000 SAPTHDR ;:POINT TO APT HEADER BLOCK
(1) 001000 .=.8X  ;;RESET LOCATION COUNTER
(2) R e R A L LA A AL LA L D L L A LA L bt ittt
(1) ;SETUP APT PARAMETER BLOCK AS DEFINED IN THE APT-PDP11 DIAGNOSTIC
g}; JINTERFACE SPEC.
(1) 001000 SAPTHD :
(1) 001000 000000 $HIBTS: .WORD O ::TWO0 HIGH BITS OF 18 BIT MAILBOX ADDR.
(1) 001002 001200 $MBADR: .WORD SMAIL  ;;ADDRESS OF APYT MAILBOX (BITS 0-15)
(1) 001004 000002 $TSTM: .WORD 2 ssRUN TIM OF LONGEST TEST
(1) 001006 900120 SPASTM: .WORD 120 ;:RUN TIME IN SECS. OF 1ST PASS ON 1 UNIT (QUICK VERLFY)
(1) 001010 000120 $UNJTM: .WORD 120 ::ADDITIONAL RUN TIME (SECS) OF A PASS FOR EACH ADDITIONAL UNIT
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15;& 001012 000052 .WORD  $SETEND=S$MAIL/2 ;;LENGTH MAILBOX-ETABLE (WORDS)
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COMMON TAGS

.SBTTL COMMON TAGS

::'Qt!*t.f."ti'ttt"iti'titt"*tttt'ttt'.i""'Q'..QQ..Q""""

;*THIS TABLE CONTAINS VARIOUS COMMON STORAGE LOCATIONS
s*USED IN THE PROGRAM,

SCMTAG:

STSTNM:
$ERFLG:
SICNT:
$LPADR:
SLPERR:
$SERTTL:
SITEMB:
SERMAX :
$ERRPC(:
$GDADR:
$BDADR:
$GDDAT:
$BDDAT:

SAUTOB:
$INTAG:

SWR:
DISPLAY:
$TKS:
$TKB:
$TPS:
$TPB:
$NULL:
SFILLS:
$FILLC:
$TPFLG:
$SREGAD:

$SREGO:
$TMPO:
SESCAPE:
$BELL :
$QUES:
$CRLF:
$LF:

.=1100

.WORD
.BYTE
.BYTE
.WORD
-WORD
.WORD
.WORD
.WORD
.WORD
.WORD
.WORD
.WORD
.WORD
.WORD
.BYTE
.BYTE
.WORD
.WORD
.WORD
177560
177562
177564
177566
.BYTE
.BYTE
.BYTE
.BYTE
+WORD

.WORD
.WORD
0
JASCIZ
.ASCI1]
LASCII
LASCIZ

OCOO0O0OOOOOO 200000000

QOT><ITTH><ITH
/?/

<15

<1

;s START OF

::CONTAINS
: :CONTAINS
;s CONTAINS
: :CONTAINS
:;CONTAINS
:sCONTAINS
:sCONTAINS
;s CONTAINS
:;CONTAJINS
:;CONTAINS
::CONTAINS
: :CONTAINS
: :CONTAINS

COMMON TAGS

THE TEST NUMBER

ERROR FLAG

SUBTEST ITERATION COUNT
SCOPE LOOP ADDRESS
SCOPE RETURN FOR ERRORS
TOTAL ERRORS DETECTED
ITEM CONTROL BYTE

MAX. ERRORS PER TEST

PC OF LAST ERROR INSTRUCTION
ADDRESS OF °'GOOD' DATA
ADDRESS OF °'BAD’ DATA
*GOOD' DATA

'BAD' DATA

; ;RESERVED=-=-NOT TO BE USED

;sAUTOMATIC MODE INDICATOR
: s INTERRUPT MODE INDICATOR

: ;ADDRESS OF SWITCH REGISTER

: :ADDRESS OF DISPLAY REGISTER

::TTY KBD STATUS

;:TTY KBD BUFFER

::TTY PRINTER STATUS REG. ADDRESS

;:TTY PRINTER BUFFER REG. ADDRESS

: ;CONTAINS NULL CHARACTER FOR FILLS
::CONTAINS # OF FILLER CHARACTERS REQUIRED
::INSERT FILL CHARS. AFTER A '‘LINE FEED"
:: 'TERMINAL AVAILABLE'' FLAG (BI1T<07>=0=YES)
:;CONTAINS THE ADDRESS FROM

::WHICH (SREGO) WAS OBTAINED

::CONTAINS ((SREGAD)+0)

:sUSER DEFINED

::ESCAPE ON ERROR ADDRESS

::CODE FOR BELL

::QUESTION MARK

: :CARRIAGE RETURN

;sLINE FEED

2122322223228 22 2222222222232 2223 3238022220800 22R0 000 RRRRRRRRRR

"SBTTL APT MAILBOX-ETABLE

crRRANRNARARCRCARERANRRATRRECREERACORRQOCRARANQASARQSACQADNRORAGSONATOORNEOE

::APT MAILBOX

: .WORD
: JWORD
: .WORD

.WORD

ARSGTY
AFATAL
ATESTN
APASS

+ sMESSAGE TYPE CODE
::FATAL ERROR NUMBER
+ s TEST NUMBER

;s PASS COUNT

SEQ 0026
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APT MAILBOX-ETABLE

$DEV(T:
SUNIT:
$SMSGAD:
$MSGLG:
SETABLE:
$ENV:
SENVM:
$SWREG:
SUSWR:

"$CPUOP:

TYP1:

" X7 LR TN LR TN
2 2 2 X" 2 %P
>
=
w
-t

- %
MADR1:
T
SMAMS? :
SMTYPZ:
$MADR? :
SMAMS S :
$SMTYP3:
$M/ADRY:
SAAMSEL :
SMTYP4:
$SMADRS :
$VECT1:
$VECTZ:
$BASE:
$DEVM:
$COW:
$CDW2:
$ODWO :
$DDVWI :
$ODW2:
$ODWS:
$DDW4:
$DDOMS:
$DDW6:
$0DW7:
$0DW8 :
$0DW9:
$0DW10:
$ODW11:
$ODW12:
$ODW13:
$0DW14:
$0DW1S:

.WORD
.WORD
.WORD
.WORD

.WORD
.WORD
.WORD

: .BYTE

.BYTE

.WORD

.BYTE
.BYTE
.WORD
.BYTE
.BYTE
.WORD
.BYTE
.BYTE
+WORD
-WORD
.WORD
.WORD
.WORD
.WORD
.WORD
.WORD
.WORD
.WORD
.WORD
.WORD
.WORD
.WORD
-WORD
.WORD
.WORD
.WORD
.WORD
-WORD
-WORD
.WORD
.WORD

ADEVCT
AUNLT

AMSGAD
AMSGLG

AENV
AENVA
ASWREG
AUSWR
ACPUOP

4

AMAMST
AMTYP1

AMADRY

AMAMS?
AMTYP?
AMADR?
AMANS3
AMTYPY
AMADR3
AMAMSS
AMTYP4
AMADRS
AVECTY
AVECT?2
ABASE
ADEVAM
ACDWA
ACDW2
ADDWO
ADDW1
ADDW?
ADDW3
ADDW4
ADDWS
ADDW6
ADDW?
ADDWS
ADDW9
ADOW10
ADDW 11
ADDW12
ADDM1Y
ADDMW14
ADDW1S

SEQ 0027

;sODEVICE COUNT
53170 UNIT NUMBER
: sMESSAGE ADDRESS
: sMESSAGE LENGTH
:sAPT ENVIRONMENT TABLE
: ;ENVIRONMENT BYTE
: sENVIRONMENT MODE BITS
:3APT SWITCH REGISTER
:USER SWITCMES
:.CPU TYPE,OPTIONS
BITS 15-11=CPU TYPE
11/04=01,11705=02,11/20=03,11/40=04,11/45=05
11/70=06,PD0=07,Q=10
BIT 10=REAL TIME CLOCK
BIT 9=FLOATING POINT PROCESSOR
BIT 8=MEMORY MANAGEMENT
::HIGH ADDRESS.M.S. BYTE
::MEM. TYPE,BLKM
MEM.TYPE BYTE -= (HIGH 8YTE)
900 NSEC CORE=001
300 NSEC B1POLAR=002
500 NSEC M0S=003
::HIGH ADDRESS,BLKM
MEM.LAST ADDR.=3 BYIES,THIS WORD AND LOW OF ''TYPE'' ABOVE
;sHIGH ADDRESS,M.S. BYTE
::MEM.TYPE ,BLKAH?
:sMEM.LAST ADDRESS,BLKA?
::HIGH ADDRESS ,M.S.BYTE
S SMEM. TYPE ,BLKA3
:;MEM.LAST ADDRESS,BLKA3
::HIGH ADDRESS,M.S.BYTE
;:MEN.TYPE ,BLKAS
::MEM.LAST ADDRESS,BLK#4
:; INTERRUPT VECTOR#1,BUS PRIORITY#H
:: INTERRUPT VECTORN2BUS PRIORITYA?
:;BASE ADDRESS OF EQUIPMENT UNDER TEST
;:DEVICE MAP
:;CONTROLLER DESCRIPTION WORD#1
;s CONTROLLE SCRIPTION WORD#?

R DE

; sDEVICE DESCRIPTOR WORO#0
;;DEVICE DESCRIPTOR WORD#1
: ;:DEVICE DESCRIPTOR WORDH?
; ;0EVICE DESCRIPTOR WORDA3 N
:;DEVICE DESCRIPTOR WORD#4
::DEVICE DESCRIPTOR WORD#5
; :DEVICE DESCRIPTOR WORD#6
;:DEVICE DESCRIPTOR WORD#?
;:DEVICE DESCRIPTOR WORD#8
s ;DEVICE DESCRIPTOR WORD#9
+;DEVICE DESCRIPTOR WORD#10
:;DEVICE DESCRIPTOR WORD#11
+;DEVICE DESCRIPTOR WORD#1?
:;DEVICE DESCRIPTOR WORD#13
::DEVICE DESCRIPTOR WORDA14
;;DEVICE DESCRIPTOR WORD#15

Lf
CF
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001324

001324
001326
001330
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001336

001340
001342

001344
001346

001350
001352
001354
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170404
170406
170430

170432
170434
170436

000344
000346

000364
000366

000006
000006
000000
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MACY11 306(1063) 24-0CT-80 09:

APT MAILBOX-ETABLE

SETEND

ASR:
ABR:
ACR:

BSR:
BBR:
BC(R:

AVECT:

AVECP2:

BVECT:

BVECTZ:
APRITY:

BPRITY
STMDAT

170404
170406
170430

170632
170434
170436

344
346

364
366

: 6
: b
: 0

38 FAGE 3-7

;/CLOCK A STATUS REGISTER.
:/CLOCK A BUFFER REGISTER.
;/CLDCK A COUNT REGISTER.
;/CLOCK B STATUS REGISTER.
;/CLOCK B BUFFER REGISTER.
;/CLOCK B COUNT REGISTER.
;/CLOCK A INTR. VECTOR ADDR.
;/CLOCX A INTR. STATUS WORD.
:/CLOCK B INTR, VECTOR ADDR.
;/CLOCK B INTR, STATUS WORD.

;/PRIORITY LEVEL OF CLOCK A.
;/PRIORITY LEVEL OF CLOCK B.

¢

SEQ 0028
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o

LPA-KW11K GIAGNOSTIC MD=11=CRLPG-C
CRLPGC.P11 18-AUG-80 09:15 ERROR POINTER TABLE SEQ 0029

f}; .SBTTL ERROR POINTER TABLE
(1) :#THIS TABLE CONTAINS THE INFORMATION FOR EACH ERROR THAT CAN OCCUR. ‘
(1) :«THE INFORMATION IS OBTAINED BY USING THE INDEX NUMBER FOUND IN
(1) ;*LOCATION SITEMB. THIS NUMBER INDICATES WHICH ITEM IN THE TABLE IS PERTINENT.
(1) ;*NOTE1: IF SITEMB IS O THE ONLY PERTINENT DATA IS (SERRPC),
t}; :«NOTE2: EACH ITEM IN THE TABLE CONTAINS & POINTERS EXPLAINED AS FOLLOWS:
(1) ;v EM ;:POINTS TO THE ERROR MESSAGE
(1) .Y DH ::POINTS TO THE DATA MEADER
(1) ;e DY ::POINTS TO THE DATA
g}; s DF ::POINTS TO THE DATA FORMAT
(1)
(1) 001356 $ERRTB:

1284

1285 CITEM 1

1286

1287 001356 027166 EM :CLOCK A SR FUNCTION ERROR

1288 001360 030053 DH1 :ERRPC  ASR WAS $/8

1289 001362 030666 DT1 :SERRPC,ASR,S$BDDAT,$GDDAT

1%?? 001364 031070 DFO :ALL NUMBERS ARE IN OCTAL FORM

1291

1292 ITEM 2

1293

1294 001366 027221 EM2 :CLOCKA SR DATA ERROR

1295 001370 030053 DH1 :ERRPC  ASR WAS S/8

1296 001372 030666 DT1 :SERRPC.ASR,$SBDDAT,$GDDAT

1%?; 001374 031070 DFO <ALL NUMBERS ARE IN OCTAL FORM

1298

129 CITEM 3

1300

1301 001376 027250 EM3 :CLOCKA BR DATA ERROR

1302 001400 030111 DH3 :ERRP{  ABR WAS S/B

1303 001402 030700 D13 ,SERRPC,ABR,$BDDAT,$GDDAT

1%?§ 001404 031070 OFO :ALL NUMBERS ARE IN OCTAL FORM

1305

}ggg CITEM 4

1308 001406 027277 EM4 :CLOCKA CR DATA ERROR

1309 001410 030147 DH& :ERRPC  ACR WAS $/8

1310 001412 030712 DT :SERRPC,ACR,$8DDAT,SGDDAT

1%}; 001414 031070 DFO :ALL NUMBERS ARE IN OCTAL FORM

1312

13 AATER

1315 001416 027326 EMS :CLOCK B8 SR DATA ERROR

1316 001420 030205 DHS ;ERRPC  BSR WAS S/B

1317 001422 030724 DTS :SERRPC,BSR,$BDDAT ,$GDDAT

13}8 001426 031070 DFO <ALL NUMBERS ARE IN OCTAL FORM
(1)

1319
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LPA-KW11K DIAGNOSTIC MD-11-(CR

CRLPGC.PVT 18-AUG-80 09:15 ERROR POINTER TABLE SEC 0030
1320 ;1TEM 6
1321
1322 001426 027355 EM6 :CLOCK B BR DATA ERROR
1323 001430 030243 DH6 ;ERRP( BBR WAS S/8
1326 001432 030736 DT6 :$ERRPC,BBR,$BDDAT ,SGDDAT
1%%? 001434 031070 DFO :ALL NUMBERS ARE IN OCTAL FORM
1326
1327 ITEM 7
1328
1329 001436 027404 Em? :CLOCK B CR DATA ERROR
1330 001440 030301 DH?7 :ERRPC B8CR WAS S/B
1331 001442 030750 D17 :$SERRPC,BCR,$BDDAT ,S$GDDAT
1%%? 001444 031070 DFO :ALL NUMBERS ARE IN OCTAL FORM
1333
133 JITEM 10
1335
1336 001446 027433 EM10 :DUAL ADDRESS ERROR
1337 001450 030337 DH10 ;ERROR 600D BAD 600D DATA READ FROM
1338 ;. PC ADDR ADDR DATA DUAL ADDRESS
1339 001452 030762 DT10 :$SERRPC,$GDADR,SBDADR,$GDDAT ,$SBDDAT
1%?? 001454 031070 DFO :ALL NUMBERS ARE IN OCTAL FORM
1341
1342 ;ITEM 1"
1343
1344 001456 027460 EM1 ;CLOCK A COUNT ERROR
1345 001460 030147 DHé& JERRPC ACR WAS S/B
1346 001462 030712 DTL :$ERRPC, ACR, $BDDAT, SGDDAT
1%#1 001464 031070 DFO ;ALL NUMBERS ARE IN OCTAL FORM
1348
}%gg ITEM 12
1351 001466 027507 EMm12 :CLOCK A COUNT FUNCTION ERROR
1352 001470 030476 DH12 ;ERRPC ASR
1353 001472 030776 DT12 :ERRPC, ASR
1%?? 001474 031070 DFO ;ALL NUMBERS ARE IN OCTAL FORM
1355
}ggg SITEM 13
1358 001476 031070 DFO :ERROR 13 DOES NOT EXSIST.
1359 001500 031070 DFO ;17 WOULD BE BAD LUCK.
1360 001502 031070 DFQ
1361 001504 031070 DF0
1362
}ggz JITEM 14
1365 001506 027547 EM14 :CLOCK B COUNT FUNCTION ERROR
1366 001510 030515 DH14 ;ERRPC  BSR
1367 001512 031004 DT14 ;SERRPC, BSR
1%?? 001514 031070 DFO +ALL NUMBERS ARE IN OCTAL FORM
1369
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1370
13N
1372 001516 027607
1373 001520 030301
1374 001522 030750
1%{? 001524 031070
1376
1377
1378

1379 001526 027636
1380 001530 030476
1381 001532 030776
1%?% 001534 031070
1383
1384
1385
1386 001536 02767
1387 001540 030515
1388 001542 031004
1389 001544 031070
1390
13N
1392
1393 001546 027724
1394 001550 030533
1395 001552 030666
1%?? 001554 031070
1397
1398
1399
1400 001556 027460
1401 001560 030147
1402 001562 031012
1??? 001564 031070
1404
1405
1406
1407 001566 027460
16408 001570 030147
001572 031024
001574 031070

— b
—
b b
o=

001576 027763
001600 030575
001602 030666
001604 031070
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ERROR POINTER TABLE
;ITEM 15

EM15
DH?
D17
DFO

ITEM 16

EM16
DH12
DT12
DFO

J1TEM 17

EM17
DH14
D114
DFO

;ITEM 20

EM20
DH20
DT
DFO

JITEM A

EM11
DHé
D121
DFO

JITEM 22

EM
DH4
D122
DFO

;ITEM 23
EM23
DH23

b1
DFO

JITEM 24

38 PAGE 3-10

;CLOCK B COUNT ERROR

;ERRPC (SR WAS §/8
;SERRPC, BCR, $BODAT, SGDDAT
;ALL NUMBERS ARE IN OCTAL FORM

;CLOCK A INTERRUPT ERROR
;ERRPC  ASR

;$SERRPC, ASR

;ALL NUMBERS ARE IN OCTAL FORM

;CLOCK B INTERRUPT ERROR
:ERRPC  BSR
;SERRPC, BSR

;CLOCK- A REPEATABILITY ERROR
;ERROR  ASR  2ND CNT 1ST (NT
;SERRPC, ASR, $BDDAT, SGDDAT
;ALL NUMBERS ARE [N OCTAL FORM

;CLOCK A COUNT ERROR

;ERROR  ASR  2ND CNT 1ST CNT
;$ERRPC, ASR, $BDDAT, $GDDAT
;ALL NUMBERS ARE IN OCTAL FORM

;CLOCK A COUNT ERROR

;ERRPC  ASR  WAS S/B
;SERRPC, ACR, SBDDAT, $TMPO
:ALL NUMBERS ARE IN OCTAL FORM

CLOCK B REPEATABILITY ERROR
;ERROR  ASR  2NDCNT 1STCNT
:SERRPC, ASR, $BDDAT, $GDDAT
;ALL NUMBERS ARE IN OCTAL FORM

SEQ 0031

~Sre



-

G 3
LPG-C MACY11 306(1063) 24-0CT-80 09:38 PAGE 3-11

LPA-KW11K DIAGNOSTIC MD-11-(CR
CRLPGC.PN 18-AUG-80 09:15 ERROR POINTER TABLE SEQ 0032

1420

1421 001606 027607 EM1S ;7LOCK B COUNT ERROR

1622 001610 030301 DH? :ERRPC  BCR WAS §/B

1423 001612 031036 DT24 :$ERRPC, BCR, SGDDAT, $TMPO

1?%? 001614 031070 DFO :ALL NUMBERS ARE IN OCTAL FORM

1425

1426 ;ITEM 25

1427

1428 001616 027607 EM1S ;CLOCK 8 COUNT ERROR

16429 001620 030301 DH7 JERRPC BCR WAS S/8

1430 001622 031050 DT25 :SERRPC,BCR,$BDDAT,$TMPO

1??; 001624 031070 DFO :ALL NUMBERS ARE IN OCTAL FORM

1432

}2%2 :ITEM 26

1435 001626 030022 EM26 ;CLOCK ADDRESSING ERRROR

1436 001630 030637 DH26 ;ERRPC  CLOCK ADDR.

1437 001632 031062 DT26 :SERRPC,$T1P20

1??? 001634 031070 DFO :ALL NUMBERS ARE IN OCTAL FORM

1439 :
(1) :ADDRESS OF KMC=-11 GF LPA-11 THE ADDR FOR KMADO MAY BE
(1) . CHANGED BY THE USER TO REFLECT
V) : A DIFFERENT KMC-11 ADDR. THE
(1) : REST OF THE ADDRESSES WILL
g}; ’ BE CHANGED BY THE PROGRAM.
1)

(1) 001636 LPCI:

(1; 001636 170460 KMADO: .WORD 170460 :BASE KMC ADDR. MAY BE PATCHED BY USER.
1

(1) 001640 LPMR:

(1) 001640 170461 KMAD1: .WORD 170460+1 :>D0 NOT <;KMC-CSR ADDR
(1) 001642 LPCO:
(1) 001642 170462 KMADZ2: .WORD 170460+2 ;OPAT(H <;
(1) 001644 LPSO:
(1) 001644 170463 KMADY: .WORD 170460+3 ;>THIS AREA <
(1) 001646 LPADL :
(1) 001646 170464 KMAD4: .WORD 170460+4 :
(1) 001650 LPADH:
(1) 001650 170465 KMADS: .WORD 170460+5 ;>D0 NOT <
(1) 001652 LPMST:
(1) 001652 170466 KMADS: .WORD 170460+6 :OPATCH <
(1) 001654 LPMS?:
i}; 001654 170467 KMAD?7: .WORD 170460+7 :>THIS AREA <
(1) 001656 000344 VECTOR: .WORD AVECTR777 JBASE VECTOR OF KMC
g}; 001660 000350 VECTPS: .WORD GeAVECTIRTZ? :VECOTR ADDR.+?
i}; 001662 000005 VERSN: .WORD 5 :CURRENT VERSION NUMBER OF M]CROCODE.
(1) 001664 000000 LOVLS:  LWORD 0 :/DEVICE LISTY OF 1/0 ADDR. DEFINED
:}; 001666 000020 BLKW 16, ;/BY INIT.

~re
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CRLPGC.PYY 18-AUG-80 09:15 PROGRAM START SEQ 0033

1440 .SBTTL PROGRAM START
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001726

001726
001732
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001740
001742

001746
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001762
001770
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002004
002012
002020
002026
002034
002940
002046
002054

002062
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002120
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002256
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C13746
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012716
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005037
132737
001403
012737

122737
001426

104401
000423

013737
012737
005037
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001100
001140
001100

025062
000340
024302
000340
027102
000340
026662
000340
022362
001166
000001
002046
002054

000004
002122
177570
177570
177777

002130
000176
000174
000004

001206
000200

001222
000001
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001254

000001
001206
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PROGRAM START

START:
SBTTL

INITIALIZE THE COMMON TAGS

;s CLEAR THE COMMON TAGS (SCMTAG) AREA

MOV #SCMTAG, RS ::FIRST LOCATION TO BE CLEARED
CLR (R6)+ ::CLEAR MEMORY LOCATION

CMP #SWR,R6 ; ;DONE?

BNE ;:LO0P BACK IF NO

.=6
MoV #STACK,SP ;;SETUP THE STACK POINTER

s INITIALIZE A FEW VECTORS

MOV #$SCOPE ,@#10TVEC ;10T VECTOR FOR SCOPE ROUTINE

MOV #340,3#10TVEC+2 ;:LEVEL 7

MoV #SERROR,QFEMTVEC ::EMT VECTOR FOR ERROR ROUTINE

MoV #340,80#ENTVEC+2 ;;LEVEL 7

MOV #STRAP ,3#TRAPVEC ;;TRAP VECTOR FOR TRAP CALLS

MOV #340,38TRAPVEC+2;LEVEL 7

MOV #SPWRDN,#PWRVEC ;:POWER FAJLURE VECTOR

MoV #340,30PURVEC+2 ;;LEVEL 7

MOV SENDCT,SEOPCT ;2SETUP END=0OF =PROGRAM COUNTER

CLR $SESCAPE s :CLEAR THE ESCAPE ON ERROR ADDRESS
MOv8 #1,3ERMAX ::ALLOW ONE ERROR PER TEST

MOV #.,SLPADR ::INITIALIZE THE LOOP ADDRESS FOR SCOPE
MOV #.,8LPERR :;SETUP THE ERROR LOOP ADDRESS

:sSIZE FOR A HARDWARE SWITCH REGISTER. IF NOT FOUND OR IT IS
:;EQUAL TO A "=1'', SETUP FOR A SOFTWARE SWITCH REGISTER.

648:
65%:
66$:

67%:

::69%:
688 :

10%:

MOV @FERRVEC,-(SP) ;;SAVE ERROR VECTOR

MoV #64S ,QFERRVEC  ;;SET UP ERROR VECTOR

MOV #DSWR, SWR :sSETUP FOR A HARDWARE SWICH REGISTER

MOV #DDISP,DISPLAY ;:AND A HARDWARE DISPLAY REGISTER

CMP #-1,354R ::TRY TO REFERENCE HARDWARE SWR

BNE 66% ; ;BRANCH IF NO TIMEOUT TRAP OCCURRED
;sAND THE HARDWARE SWR [S NOT = -1

BR 65% : ;BRANCH IF NO TIMEOUT
:?Y #65%, (SP) ;:SET UP FOR TRAP RETURN

MOV #SWREG, SWR : sPOINT TO SOF TWARE SWR
MOV #DISPREG,DISPLAY
MOV (SP)+,@#ERRVEC ;;RESTORE ERROR VECTOR

CLR $PASS ;s CLEAR PASS COUNT
BITB #APTSIZE,SENVM ;TEST USER SIZE UNDER APT
BEQ 67% ;s YES,USE NON-APT SWITCH

MOV #S$SWREG, SWR :;NO,USE APT SWITCH REGISTER

(MPB #1,%AUT08 :IF RUNNING XXDP ETC.
BEQ 108

TYPE ,65% ;:TYPE ASCIZ STRING
BR 68% ::GET OVER THE ASCIZ
ASCIZ ASHADA2>#CRLPGC LPA/KMWIT=K  DIAGNOSTICAH<15><12>

MOV $BASE ,ASR
MoV #1,S$0EVCT
(LR $PASS

SEQ 0034
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PN

002276
002300
002302
002306

002312
002314
002316
002322
002324
002330
002332

002334
002334
002336
002340

002406
002412

002416
002422
002426
002432
002436
002442
002446

002452

002504

012601
012600

005000
005200
001376
013700
062700
010037
062700
010037
062700
010037
062700
010037
062700
010037

013700
062700
010037
062700
010037
062700
010037

013737
000402
005037
012706
012746
012746
000002

001636
001640

001656
001664

001324
000002
001326
000022
001330
000002
001332
000002
001334
000002
001336

001340
000002
001342
000016
001344
000002
001346

001350

001664
001100
000340
002504

001352
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INITIALIZE THE COMMON TAGS

“THIS SECTION OF CODE HANDLES INITIALIZING LPA=11 SUNCTIONS

MOV RO,=(SP)
MOV R1,=(SP)

MOV KMADO RO ;GET KMC-11 ADDRESS.

MOV FKMAD1 ,R1 ‘GET ADDR. OF ADDR. LIST.
708:  INC RO :UPDATE ADDR.
MOV RO, (1)+ ‘WRITE ADDR.
CMP R1.#KMAD7+2 *DONE ALL ADDRESSES?
BNE 70$ 'NO - DO NEXT ADDR.
CLR .DVLS “CLR ADDR. LIST.
MOV (SP)+.R1
MOV (SP)+.RO
LOOP:
CLR RO
1$: INC RO :DELAY SOME TIME SO THAT FIRST RESET
BNE 1% TINSTR. WON'T CLOBBER TYPEOUT.
MOV ASR,RO *NOW WE'RE GONNA FIX
ADD #2,R0 "ALL CLOCK ADDRESSES BASED ON ASR.
MOV RO . ABR
ADD #22.,R0
MOV RO,ACR
ADD #2.R0
MOV RO.BSR
ADD #2.R0
MOV RO,BBR
ADD #2.R0
MOV RO.BCR
MOV AVECT,RO ©NOW FIX VECTOR ADDRESSES
ADD #2.R0 “BASED ON AVECT.
MOV RO.AVECP2
ADD #16,R0
MOV RO,BVECT
ADD £2.R0
MOV RO.BVECT?
MOV APRITY,BPRITY  ;FIX CLK B'S PRIORITY BASED ON A'S.
BR SSTART
RSTART: CLR .DVLS
SSTART: MOV #STACK,SP
MOV #340,-(SP) :SET PROCESSOR PRIORITY 10 7.
MOV s, -(SP)
RTI
1%:
JSBTITL +

.SBTTL + PHASE 1 CLOCKS A+B BASIC LOGIC TESTS.
LSBTTL «

SEQ 0035
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LPA-KW11K DIAGNOSTIC MD-11-CRLPG-( MACY11 306(1063) 24-0CT-80 09:38 PAGE 3-15

CRLPGC.PIY 18-AUG-80 09:15 . SEQ 0036
e
(S) tttttttt'ttttt‘ ettt tRRRRNOOAORNRORRARARARRARGERANRARRORQRARQANROY®
gg; -rssr 1 *TEST THE ADDRESSABILITY OF CLOCK ADDRESS
(S ; 'Bus A17'':"A0& "=""DEVICE' H: "DEVICE'' M +''TPO'' H="DEV ENABLE'' M
(5) S«"DEV ENABLE'- H¢''TP1"* H=''DEV ENB 2'' M
(5) e
(6) it
tg; :» PROBABLE SYNC POINT FOR THIS TEST:: 'BUS A7’
‘%
:g; s« CLOCK ADDRESS TEST. SCOPE FOR 'DEV ENB I'' H AND WORK BACK
(B §
(l.) : ‘ 2 2222222222222 X XXX ZX X222 222322 X2222 002000222000 0AR0RRRd |
(3) 002504 000240 TST1:  NOP
(1) 002506 112737 000001 001102 18: MOVB #1,8TSTNM
2}; 002514 112737 000001 001204 MOVB #1,8TESTN
(2)
i%; i MOV SASR,$BDDAT :/READ DEVICE REG ASR,PUT DATA IN $8DDAT.
E%; A MOV 8ABR,$BDDAT :/READ DEVICE REG ABR,PUT DATA [N $BDDAT.
23; X, MoV SACR,$BDDAT :/READ DEVICE REG ACR,PUT DATA IN $BDDAT.
i%; o MOV 8BSR,$BODAT :/READ DEVICE REG BSR,PUT DATA IN $BDDAT.
t%; it MoV aBBR,$BDDAT :/READ DEVICE REG BBR,PUT DATA IN $BDDAT.
f%; X MOV aBCR,$BDDAT :/READ DEVICE REG BCR,PUT DATA IN $BLDAT.
1541
1542 IR R R AR AR R A TR R AN LR R AN AR RN E RN AT RNAN RO RN ROy
gz; -resr 2 +TEST THAT CLOCK A BUFFER CAN BE WRITTEN INTO
22; -ron LOADING DATA:
(4) *(UE KNOW WE CAN ADDR. KW11), "BUS AOT'" L + "'AQ2"" H + “A03'' H
%) .'+ "BUS C1'° L=""LD BUFF A" L
(4) ;+''LD BUF A" L + BUFFERED DATA LOADS INTO MUX LATCH (NOTE WE KNOW
52; .tav NOW ‘‘TP1'' L SHOULD BE GOOD).
::; I' FOR READING DATA:
't
(&) :#BUS AO1 L ¢ (DATA IN H + EV ENABLE(1) H)=RD BUFF AL
(4) *[BA01H'(DEPENDING ON WHICH DATA BITS READ) RD BUF ALJ+BUFF A00:15
g:; ;¢ +[DEV ENABLE*DATA IN L)=BUS DATA
t
(&) <«SINCE WE WONT LOOK FOR ANY SPECIFIC DATA BIT FAILURE,
(4) ceJUST THAT WE CAN WRITE INTO BUFFER + READ BACK,

'IF FAILED, KEY ON ‘LD BUFF A L'' AND "RD BUFF A L"
;¢ PROBABLE SYNC POINT FOR THIS TEST:: "BUS A17'' (2 OCCURANCES PER LOOP)




LPA-KW11K GIAGNOSTIC

CRLPGC.PYY

(4)

002602

002604

002632
002636

002640

002642

L 3
MD=11~CRLPG-C MACY11 306(1063) 24-0CT-80 09:38 PAGE 3-16
80 15 T2 «TEST THAT CLOCK A BUFFER (AN BE WRITTEN INTO

P AN AENRRERRRARACCCEERERRNCRROOQROIQRRRAORRONRRARRORRNONRANROCARARCOOGORNOCOERTS

11
18-AUG-80 09:
000004 t$12:  SCOPE
012737 001416 001124 MOV
. : MOV
o MOV
005737 001126 ST
001001 BNE

;WRITE INTO PRESET BUFFER.
;SET SGDDAT FOR ERROR TYPEOUT.
;READ THE PRESET BUFFER.

#14616,3GDDAT

$GODAT,3ABR ;/ PUT DATA FROM $GDDAT TO DEVICE REG ABR
SABR,SBODAT :/READ DEVICE REG ABR,PUT DATA IN $BODDAT.
?gDDAT ;1F ANY DATA WAS READ BA(CK, WE WILL

:BR PAST THE ERROR CALL.

:::98883555855358555585888588>> ERROR <<$595355535555855585555385383

104003 ERROR

3 sUNABLE TO LOAD AND READ BACK
;FROM THE BUFFER REGISTER CLOCK A.

:5:9959588385855538888888888>> ERROR <<$95958555555555553583585S

1%:

SEQ 0037
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CRLPGC .PIN 18-AUG-80 09:15 12 *TEST THAT CLOCK A BUFFER CAN BE WRITTEN INTO SEQ 0038
1570
15" RN EERRRAA RN R AT E RN L E N LRI NN NRNNANCRORNRANCNRRCON R TARCOAR OGNS
tz; tTEST 3 2TEST THAT CLOCK A BUFFER CAN BE WRITTEN TO A ZEROD
(4) tTHE LAST TEST WROTE 1°S INTO CLOCK A'S BUFFER. IN THIS
22; -tesr WE TRY TO WRITE ALL ZEROS.
igg -SIGNALS - SAME AS LAST TEST. SUSPECT F/F OR DATA GATE STUCK OPEN
E%; .' PROBABLE SYNC POINT FOR THIS TEST:: ''LD BUFF A
M)
&
(3) ; ;ttnttttttttttt'ttt'tt'tttttttt'ttttIttttitttttttﬁt't"ttttQQQtt
1§$5 002642 000004 TST3:  SCOPE
1573 002644 005037 001124 CLR $GDDAT ;INDICATE WE EXPECT 0°'S.
1574 :CLEAR BUFFER REGISTER.
}g;g SREAD CLOCK A'S BUFFER REGISTER
1;}; X MOV $GDDAT ,3ABR :/ PUT DATA FROM $GDDAT TO DEVICE REG ABR
1) it MOV S8ABR,SBDDAT :/READ DEVICE REG ABR,PUT DATA IN $BDDAT.
1578 002670 005737 001126 TST 3DCDAT
}ggg 002674 001401 BEQ 1$ sSHOULD BE CLEAR - IF CLEAR - NEXT TEST.
1581
+::$$835$8858588885888888888>> ERROR <<$$55$5555955555555553588$
1582 002676 104003 ERROR 3 :CLEAR INTR. FAILED TO CLEAR CLOCK A'S
}ggz :BUFFER REGISTER.
2::$$83588588888588885888888>> ERROR <<$$55$5555555538535355338$
1585 002700 1$:
1586
1603
160‘ tttttttttttttltttti 222222224 222222332232i32X3223313122222232232022);
22; -resv 4 «TEST THAT CLOCK A'S STATUS CAN BE WRITTEN AND READ
(%) -nou THAT WE CAN WRITE INTO THE BUFFER REGISTER, WE'RE GOING TO TRY
{2; 'URITING INTO THE STATUS REGISTER AND REAC IT BACK.
(%) 'neu SIGNALS: ['BAO3™ L + "BAD2'' L + 'BAOT" L)=""LD STAT A" L
(%) .- '»AIA OUT LO' L + "'DATA our Hl” L+ 'LD STATA" L = "'LD STAT A HI''H
(4) : ¢+ 'LD STATA LO W
22; troa READ BACK: 'RD STATA' L
(&) -no ATTEMPT MADE TO VERIFY THAT CORRECT DATA CAME BACK, BUT
fg; 'JUSI THAT SOME DATA CAME BACK.
igg .- PROBABLE SYNC POINT FOR THIS TEST:: 'DEV ENABLE (1) 2 OCCURANCES PER PASS
.t
7
(3) ;;tttttt!ittt!t!ttt\vttttfttttttttttttttttttttttttttttttt'!ti!tttt
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LPA-KW11K DIAGNOSTIC MD-11-CR
CRLPGC.P11 18-AUG-80 09:15 Té «TEST THAT CLOCK A'S STATUS CAN BE WRITTEN AND READ SEQ 0039

1;8; 002700 000004 TST4:  SCOPE
1606 002702 012737 001416 001124 MoV #1616,$G0DAT ;LOAD $GDDAT WITH S/B.
1607 ;LOAD STATUS REGISTER.
}288 ;READ BACK STATUS REGISTER
1&16 ot Mov $GDDAT,3ASR :/ PUT DATA FROM $GDDAT TO DEVICE REG ASR

(1) o MOV @8ASR,SBODAT ;/READ DEVICE REG ASR,PUT DATA [N $BDDAT.
1611 002730 005737 001126 TST $BODAT
}g}% 002734 001001 BNE 1% ;1IF ANY BITS RETURNED - NO ERROR.

:::$5$8388835858558888888888>> ERROR <<$$5555955355558855555358$
1614 002736 104002 ERROR 2 ;ERROR=UNABLE TO LOAD AND READ BACK
1615 :STATUS REGISTER OF CLOCK A.
B |
$::99855555353553558858888888>> ERROR <<$5$555555355958555585588$

1618 002740 18: ;CLEAR CLOCKA'S STATUS REG.
}2;3 002740 005037 001124 CLR $GDDAT
12}% H Mov $GDDAT ,3ASR :/ PUT DATA FROM $GDDAT TO DEVICE REG ASR
1629
1630 R L A R A L LA A R L A R AR LA R ARl LAl

gz; ;*TEST § *TEST THAT CLOCK B'S STATUS REGISTER CAN BE WROTE/READ

X ]
ig; N ;*NEW SIGNALS: ['BAO3'* M ¢ *BA02'' L ¢ "BAOT'" L1="LD STATB"' L*'RD STAT B’ L
X
(5) :* PROBABLE SYNC POINT FOR THIS TEST:: 'DEV ENABLE (1)'' 2 OCCURANCES PER PASS

%
* *

~
Hor
~ s
L ] *

(3) ;:tt.tt'ttttt.ttt't'tt"l""."tttttttttittttt'tt!tttttttttttltt
1;%3 002754 000004 TSTS:  SCOPE
1632 002756 012737 001016 001124 MoV £1016,8GDDAT sUSE 1016 AS PATTERN, PUT IN $GDDAT.
1633 :LOAD B'S STAT REG.
}2%? :READ BACK THE STATUS REG.
1;;3 e MOV $GODAT,3BSR :/ PUT DATA FROM SGDDAT TO DEVICE REG BSR
(1) ot MOV 8BSR,SBODAT :/READ DEVICE REG BSR,PUT DATA IN $BODAT.
1637 003004 005737 001126 TST $SBODAT
}ggg 003010 001001 BNE 1 :IF ANY BRITS CAME BACK, SUBTEST OK.
1640
22:88$8883555858883385888888>> ERROR <<$35$335838535588885858838$
1641 003012 104005 ERROR S <ERROR-COULD NOT WRITE/READ BACK
1642 sCLOCK B*S STATUS REGISTER.
1643
1644

5::8858888885555588833888888>> ERROR <<$3383838888888338838883883
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CRLPGC.PY1  18-AUG-80 09:15 TS «TEST THAT CLOCK B'S STATUS REGISTER CAN BE WROTE/READ
\
1645 003014 1%: !
1646 \
1647
1654
1655 ;:tttttt'tttttttttt'ttt"Q"'t"t"'Q.tt""tttt".tt'ti"'tilttt
22; SeTEST 6 «TEST THAT CLOCK B8'S BUFFER REGISTER CAN BE WROTE/READ
(B
ig; SeNEW SIGNALS: ['BAO3'' H + "BA02'" L + 'BAO1'' H1=''LD BUFF B8'' L+"RD BUFF 8" L
X
ig; « PROBABLE SYNC POINT FOR THIS TEST:: 'DEV ENABLE (1)'' 2 OCCURANCES PER PASS
' %
(4) .
(3) ‘ ::ttttQtttttittttttttit't't't'ttttititt'ttt'it.'tt".t'!ltl'tttt'
"(’g()’ 003014 000004 7ST6:  SCOPE
1657 003016 012737 000370 001124 MOV #370,8G0DAT :USE PATTERN ''370'", PUT IN $GDDAT.
1658 ‘WRITE INTO CLOCK B'S BUFFER REGISTER.
}223 SREAD IT BACK.
1314 ;e MOV $GDDAT,aBBR s/ PUT DATA FROM $GDDAT TO DEVICE REG BBR
(1) o MOV aBBR,$BDDAT :/READ DEVICE REG BBR,PUT DATA IN $BDDAT,
1662 003044 005737 001126 TST $BDDAT
]‘ggz 003050 001001 B8NE 1% ;IF ANY BITS COME BACK-SUBTEST OK.
1665
;:: 888588585588 8888588888888>> ERROR <<35$5535$5535355553535588$
1666 003052 104006 ERROR 6 ;ERROR-FAILED TO WRITE/READ CLOCKB'S
1667 ‘BUFFER REGISTER.
1600 -
o
;958855 8585855858585888888>> ERROR <<$35555555535355555385888S
1670 003054 1%:
167

1679

SEQ 0040
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=11=-CRLPG=C
18-AUG-80 09:15

»

000004
012737 100000 001124

023737 001124 001126
001402

C &
MACY11 306(1063) 24~0CT-80 09:38 PAGE 3-20
Té ¢TEST THAT CLOCK B'S BUFFER REGISTER CAN BE WROTE/READ SEQ 0041

/A
.
a8 23 323 2 R0 R RRRRRRdRRRRR RRRRRRRA

SeTEST 7 +TEST THAT CLOCK A STATUS REGISTER BIT 15 CAN BE SET AND CLEARED
X

E'CLOCK A STATUS REGISTER BIT EXERCISE. ON FAILURE=SUSPECT INDIVIDUAL
;*F/FS OR GATES
X

;* PROBABLE SYNC POINT FOR THIS TEST:: "DEVICE OUT'' 2 OCCURANCES PER PASS
X
.
T I L T T T T T Y P P PR PR PR
1ST7:  SCOPE
:/CLEAR THE STATUS REGISTER.
:/SET BIT 15,
s/SET FOR ERROR TYPEOUT S/8.
;/READ THE STATUS REGISTER.

Mov #B1T15,8GDDAT

. MoV $GDDAT,3ASR ;/ PUT DATA FROM S$GDDAT TO DEVICE REG ASR
' MOV SASR,$BDDAT :/READ DEVICE REG ASR,PUT DATA IN $BDDAT.
CMP $GDODAT,$BDDAT  ;/DID BIT 15 AND ONLY BIT 15 SET?

BEQ 1% :/1F SO=-LETS TRY CLEARING IT.

::88888888883388888885888888>> ERROR <<$59$555555555555355558388

104002

ERROR 2 ;/ERROR CLOCK AS STATUS REGISTER.
:/BIT 15 FAILED TO BIT SET.

$::999558553855333888858335888>> ERROR <<$$$55355555585533553358883

000416

005037 001124
\

005737 001126
001401

BR 2% ;/BR TO END SUBTEST.
1$: :/TRY CLEARING BIT 15,

CLR $GDDAT ;/CLEAR S/B FOR TYPECUT IF ANY,

:/NOW READ IT BACK.

A MoV $SGDDAT ,3ASR ;/ PUT DATA FROM $GDDAT TO DEVICE REG ASR
o MOV @ASR,$BDDAT :/READ DEVICE REG ASR,PUT DATA IN $BDDAT.

IST $BODAT

BEQ 2% ;/1F ZERO-NO ERROR!

5::998885888$888588588838888>> ERROR <<$3559353555555555555358888

104002

ERROR 2 ; /ERROR-CLOCK A STATUS REGISTER.
;/BIT 15 FAILED TO CLEAR.

$::9585388885338888888888888>> ERROR <<3$535885355555555553353883$

2s:
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17 *TEST THAT CLOCK A STATUS REGISTER B T 15 CAN BE SET AND CLEARED SEQ 0042

N

't"fittttttﬁ""t"Qt'if!tfﬁi'ﬁ'tttlt"i"i"'!"'Q't".'tttt'

'TEST 10 *TEST THAT CLOCK A STATUS REGISTER BIT 14 CAN BE SET AND CLEARED

'CLOCK A STATUS REGISTER BIT EXERCISE. ON FAILURE-SUSPECT INDIVIDUAL
*F/FS OR GATES

ft PROBABLE SYNC POINT FOR THIS TEST:: ‘DEVICE OUT'' 2 OCCURANCES PER PASS
't
[ 4
:.ttttttttttttttttt'ttttttttttttt!tttttttttttt'!tit't"ttt!ttttt'
000004 TST10: SCOPE
:/CLEAR THE STATUS REGISTER.
:/SET BIT 14,
:/SET FOR ERROR TYPEOUT $/B.
< /READ THE STATUS REGISTER.
012737 040000 001124 MOV #BIT14,8GDDAT
v MOV $GDDAT,@ASR :/ PUT DATA FROM $GDDAT TO DEVICE REG ASR
B MOV 8ASR,$BDDAT :/READ DEVICE REG ASR,PUT DATA [N SBODDAT.
023737 001124 001126 CMP $GODAT,$BDDAT  :/DID BIT 14 AND ONLY BIT 14 SET?
001402 BEQ 1$ :/1F SO=-LETS TRY CLEARING IT.
1::9585888858855888888888888>> ERROR <<$$$8588$5585555558553888$S
104002 ERROR 2 :/ERROR CLOCK AS STATUS REGISTER.
:/BIT 14 FAILED TO BIT SET.
2::$9888888588558835888888888>> ERROR <<$$5$535553555555355588888$ .
000416 BR 2% ;/BR TO END SUBTEST,
18: :/TRY CLEARING BIT 14,
005037 001124 CLR $GODAT </CLEAR S/B FUR TYPEOUT If ANY.
:/NOW READ IT BACK.
v MOV $GDDAT,3ASR s/ PUT DATA FROM S$GDDAT TO DEVICE REG ASR
ot MoV 8ASR, SBODAT :/READ DEVICE REG ASR,PUT DATA IN $BDDAT.
005737 001126 TST $BDDAT
001401 BEQ 2% :/1F 1ERO-NO ERROR'
$::958358558558558588588888%>> ERROR <<$$3$35$535833853588358885388$
104002 ERROR 2 : /ERROR=-CLOCK A STATUS REGISTER.
:/BIT 14 FAILED TO CLEAR.
2::9888353583585358883888888>> FRROR <<$8$35$58535858535858333583%
2%:

LF
Ck



LPA-KW11K DIAGNOSTIC MD-11-CRLPG-C
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003352
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11
18-AUG-80 09:

000004
012737 020000 001124

023737 001124 001126
001402

E &
MACY11 306(1063) 24-0CT-80 09:38 PAGE 3-
710 *TEST THAT CLOCK A STATUS REGISTER

/R
’
S 2 2 22T XIS ARSI RRRRARRRRRRRRRRRRRRANA

SeTEST 11 £TEST THAT CLOCK A STATUS REGISTER BIT 13 CAN BE SET AND CLEARED
X

E'CLOCK A STATUS REGISTER BIT EXERCISE. ON FAJLURE-SUSPECT INDIVIDUAL
s*F/FS OR GATES
X

;* PROBABLE SYNC POINT FOR THIS TEST:: "DEVICE OUT'' 2 OCCURANCES PER PASS

22
BIT 14 CAN BE SET AND CLEARED SEQ 0043

*
.
R L L L T R R L P T TR R
TST11: SCOPE
:/CLEAR THE STATUS REGISTER.
;/SET BIT 13,
;/SET FOR ERROR TYPEOUT S/B.
;/READ THE STATUS REGISTER.
MOV #81T13,8GDDAT
o MoV $GDDAT ,8ASR :/ PUT DATA FROM SGDDAT TO DEVICE REG ASR
b MOV SASR,$BDDAT ;/READ DEVICE REG ASR,PUT DATA IN $BDDAT.
CMP $GODAT,$BDDAT  ;/DID BIT 13 AND ONLY BIT 13 SET?
BEQ 1% ;/1F SO-LETS TRY CLEARING IT.

5:8588588535855588558885883>> ERROR <<$355555555385558888588S3$

104002

ERROR 2 ;/ERROR CLOCK AS STATUS REGISTER.
:/BIT 13 FAILED TO BIT SET.

$::9888558885883858858838888>> ERROR <<$3555333555353535855588389

000416
005037 001124

005737 001126
001401

BR 2% ;/BR TO END SUBTEST.
1$: ;/TRY CLEARING BIT 13.

CLR $GDDAT s/CLEAR S/B FOR TYPEOUT IF ANY.

:/NOW READ IT BACK.

. MoV $GDDAT,aASR ;/ PUT DATA FROM SGDDAT TO DEVICE REG ASR
o ¥ MOV aASR,SBDDAT ;/READ DEVICE REG ASR,PUT DATA [N $BDDAT.

TST $BODAT

BEQ 2$ :/1F IERO-NO ERROR!

$::9955585885588558838388888>> ERROR <<$5939859355535553555555888

104002

ERROR 2 ;/ERROR-CLOCK A STATUS REGISTER.
;/81T 13 FAILED TO CLEAR.

:::$9898955555553588535858888>> ERROR <<$$3355$355955535838353833

2%:

LP
(R
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LPA=-KW11K DIAGNOSTIC MD=11-CRLPG=( MACY11 306(1063) 24-0CT-80 09:38 PAGE 3-23
18-AUG-80 09:15 R B

CRLPGC.P1Y ™ *TEST THAT CLOCK A STATUS REGISTE T 13 CAN BE SET AND CLEARED
(2) 4
(6) JINNARAR AN R RN ERE NN C NN AR R AT RAR AR CANRACORNRANNOOROIRENROTIOCTS
22; ;*TEST 12 ¢ TEST THAT CLOCK A STATUS REGISTER BIT 9 CAN BE SET AND CLEARED
M
(6) ;«CLOCK A STATUS REGISTER BIT EXERCISE. ON FAILURE-SUSPECT INDIVIDUAL
29; ;*F/FS OR GATES
:t
i;g ;% PROBABLE SYNC POINT FOR THIS TEST:: "'DEVICE OUT'' 2 OCCURANCES PER PASS
. %
(6) [ X4
(5) PN AN AR RN RN RO RN RN OR AN ENANRNEPONRNRNTAONORERANANROTS
(4) 003354 000004 TST12: SCOPE
(2) :/CLEAR THE STATUS REGISTER.
(2) ;/SET BIT 9.
(2) ;/SET FOR ERROR TYPEOUT S/B.
(2) :/READ THE STATUS REGISTER.
:%; 003356 012737 001000 0011264 MOV #BLT9,SGDDAT
2%; o MOV $GDDAT,aASR :/ PUT DATA FROM $GDDAT TO DEVICE REG ASR
(%) o MOV adASR,$BODAT :/READ DEVICE REG ASR,PUT DATA [N S$SBDDAT.
(2) 0036404 023737 001124 001126 CMP $GDODAT,$BDDAT ;/DID BIT 9 AND ONLY BIT 9 SET?
§§; 003412 001402 BEQ 1% ;/1F SO-LETS TRY CLEARING IT.
$::998985858558558885888535888>> ERROR <<$35535535535535585885858888$
(2) 003414 104002 ERROR 2 :/ERROR CLOCK AS STATUS REGISTER.
g%; ;/BIT 9 FAILED TO BIT SET.
1::98888588888883888888888888>> ERROR <<$$595599958555538585558885%%
(2) 003416 000416 BR 23 :/BR TO END SUBTEST.
(¢) 003420 1$: ;/TRY CLEARING BIT 9.
(2) 003420 005037 001124 CLR $GODAT ;/CLEAR S/B FOR TYPECUT IF ANY.
:%; :/NOW READ [T BACK.
tg; i MOV $GDDAT,8ASR :/ PUT DATA FROM $GDDAT TO DEVICE REG ASR
(3) M MOV @dASR,$BDDAT :/READ DEVICE REG ASR,PUT DATA IN SBDDAT.
(2) 003444 005737 001126 TST $SBODAT
:%; 003450 001401 BEQ 2% ;/1F IERO-NO ERROR!
$::995938888858583885885888888>> ERROR <<3$553533353358333353353%8$S
(2) 003452 104002 ERROR 2 ;/ERROR-CLOCK A STATUS REGISTER.
g%; :/BIT 9 FAILED TO CLEAR.
5::9995888588538555838888888>> ERROR <<3533359839838535388335%89
(2) 003454 2%:

SEQ 0044

L!
Cl
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CRLPGC.P1 18-AUG-80 09:15 112 *TEST THAT CLOCK A STATUS REGISTER BIT 9 CAN BE SET AND CLEARED

(2) /0

(6) :;.""""".'t""""""""'i'""'""'.Q.'Q'.Q'.""Q.""

(2; ;*TEST 13 *TEST THAT CLOCK A STATUS REGISTER BIT 8 CAN BE SET AND CLEARED

\ e

(6) ;*CLOCK A STATUS REGISTER BIT EXERCISE. ON FAILURE-SUSPECT INDIVIDUAL

é?; ;*F/FS OR GATES

. %
i;; :* PROBABLE SYNC POINT FOR THIS TEST:: "DEVICE OUT'' 2 OCCURANCES PER PASS
b 4

(6) 1

(S) R R R AL AR AL

(4) 003454 0C0004 TST13: SCOPE

(2) :/CLEAR THE STATUS REGISTER.

(2) ;/SET BIT B.

(2) ;/SET FOR ERROR TYPEOUT S/B.

(2) :/READ THE STATUS REGISTER.

g%; N03456 012737 000400 001124 (0] #B178,8GDDAT

i%; i MOV $GDDAT,3ASR ;/ PUT DATA FROM $GDDAT TO DEVICE REG ASR

(3) o MOV 8ASR,$BDDAT :/READ DEVICE REG ASR,PUT DATA [N $BDDAT,

(2) 003504 023737 001124 001126 CMP $GODAT ,$BDDAT  ;/DID BIT 8 AND ONLY BIT 8 SET?

5%; 003512 001402 BEO 1% :/1F SO=-LETS TRY CLEARING 1T,
$::9939885358855885888888888>> ERROR <<3388555555055558355358888

(2) 003514 104002 ERROR 2 ;/ERROR CLOCK AS STATUS REGISTER.

%%; ;/BIT 8 FAILED TO BIT SET.
0::9958955553885883538888888888>> ERROR <<$39558558895555355885888S

(2) 003516 000416 BR 2% ;/BR TO END SUBTEST,

(¢) 003520 1$: :/TRY CLEARING BIT 8,

(2) 003520 005037 001124 CLR $GDDAT ;/CLEAR S/B FOR TYPEOUT IF ANY.

i%; :/NOW READ IT BACK.

i%; .t MOV $GDODAT ,8ASR ;/ PUT DATA FROM $GDDAT TO DEVICE REG ASR

» o MOV S8ASR,$BDDATY ;/READ DEVICE REG ASR,PUT DATA I[N S$BODAT,.

«2) 003544 005737 001126 TST $BDDAT

g%; 003550 001401 BEQ 2% ;/1F ZERO-NO ERROR!
:::99888888888558555858588888>> ERROR <<$33538833358383855585388388$

(2) 003552 104002 ERROR 2 :/ERROR-CLOCK A STATUS REGISTER.

:%; ;/B1T 8 FAILED TO CLEAR.
$::9888888888588888858888888>> ERROR <<$$53353588535385888385888

(2) 003554 2$:

SEQ 0045
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:::9983888588588388888888888>> ERROR <<$35955955853853855355535838

104002

:::989355888555583888885883888>> ERROR <<$8535355353555533355558353

000416
005037 001124

005737 001126
001401

5::593555588855383853555538858>> ERROR <<$385383853533555853558338

104002

5::9988585385853888555888883>> ERROR <<3335533383853388388853888$

H &
MACY11 306(1063) 24-0CT-80 09:38 PAGE 3-25 L!
113 «TEST THAT CLOCK A STATUS REGISTER BIT 8 CAN BE SET AND CLEARED SEQ 0046 'U
¥y
:;"t"it't't'tt'i""'t'i't'""'Q'.'QQ.Q'.'QQ'!Q"""."Q"."
seTEST 14 «TEST THAT CLOCK A STATUS REGISTER BIT 7 CAN BE SET AND CLEARED
X

E*CLOCK A STATUS REGISTER BIT EXERCISE. ON FAILURE-SUSPECT INDIVIDUAL
;*F/FS OR GATES
. %

‘« PROBABLE SYNC POINT FOR THIS TEST:: 'DEVICE OUT'' 2 OCCURANCES PER PASS
X
.9
;;ttttttttnttttt't'ttttttttttttttttttttitatﬁ'ttttcctt.tct.co.ttto
TST14: SCOPE
;/CLEAR THE STATUS REGISTER.
;/SET BIT 7.
;/SET FOR ERROR TYPEQUT S5/B.
;/READ THE STATUS REGISTER.
MOV #BIT7,8GDDAT

o0 MOV $GDDAT,8ASR ;/ PUT DATA FROM $GDDAT TO DEVICE REG ASR
ot MOV @ASR,$BDDAT ;/READ DEVICE REG ASR,PUT DATA [N $BDDAT.
CMP $GDDAT,$BODAT  ;/DID BIT 7 AND ONLY BIT 7 SET?
BEQ 1% ;/1F SO=LETS TRY CLEARING IT.

ERROR 2 ;/ERROR CLOCK AS STATUS REGISTER.
;/BIT 7 FAILED TO BIT SET.

BR 2% :/BR TO END SUBTEST.
1%: :/TRY CLEARING BIT 7.

CLR $GDDAT :/CLEAR S/B FOR TYPEOUT IF ANY,.

:/NOW READ IT BACK.

13 MOV $GDDAT ,@ASR :/ PUT DATA FROM $GDDAT TO DEVICE REG ASR
o MOV 8ASR,$BDDAT :/READ DEVICE REG ASR,PUT DATA IN S$BDDAT.

TST $BODAT

BEQ 2% :/1F ZERO=-NO ERROR'

ERROR 2 ; /ERROR-CLOCK A STATUS REGISTER.
;/BIT 7 FAILED TO CLEAR.

2%:
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R BIT 7 CAN BE SET AND CLEARED SEU 0047

114 «TEST THAT CLOCK A STATUS REGISTE
¥/

SR 2 A X XTI R R TR XS AR R AR R AR RRRZRRRRdRR R R

E;TEST 15 ¢TEST THAT CLOCK A STATUS REGISTER BIT 6 CAN BE SET AND CLEARED
X3

;«CLOCK A STATUS REGISTER BIT EXERCISE. ON FAILURE=-SUSPECT INDIVIDUAL
;*F/FS OR GATES
N

+ PROBABLE SYNC POINT FOR THIS TEST:: "DEVICE OUT'' 2 OCCURANCES PER PASS

° %
4
X 2 2RI 2222222222222 022022222000 RRRRRRRRdRlRlRRlRRlhl )

TST15: SCOPE
;/CLEAR THE STATUS REGISTER.
;/SET BIT 6.
;/SET FOR ERROR TYPEOUT S/B.
;/READ THE STATUS REGISTER.
MOV #B1T6,8GODAT

. MOV $SGDDAT ,@ASR :/ PUT DATA FROM SGDDAT TO DEVICE REG ASR
o MOV SASR,$BDDAT ;/READ DEVICE REG ASR,PUT DATA I[N $BDDAT.
CMP $GODAT,$BODAT  ;/DJD BIT 6 AND ONLY BIT 6 SET?
BEQ 1% ;/1F SO=-LETS TRY CLEARING IT.

:::9998838883588388888838888>> ERROR <<3353855385555353335553838$

104002

ERROR 2 :/ERROR CLOCK AS STATUS REGISTER.
;/BIT 6 FAILED TO BIT SET.

$::9988883888833888858888838>> ERROR <<$3538553555353558835553835$

000416
005037 001124

005737 001126
001401

BR 2% ;/BR TO END SUBTEST.
1%: :/TRY CLEARING BIT 6.

CLR $GODAT ;/CLEAR S/B FOR TYPEOUT IF ANY.

;/NOW READ IT BACK.

H MoV $GODAT ,aASR :/ PUT DATA FROM S$GODAT TO DEVICE REG ASR
o MOV @ASR,$BODAT :/READ DEVICE REG ASR,PUT DATA IN $BODAT.

187 $BODAT

BEQ 2% ;/1F IERO-NO ERROR!

$::9985585558585535858555333888>> ERROR <<$598533353555555535338588

104002

ERROR 2 :/ERROR-CLOCK A STATUS REGISTER.
;/BIT 6 FAILED TO CLEAR.

$::99598858585555885585888888>> ERROR <<$338395355358883358588383

2%:
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115 «TEST THAT CLOCK A STATUS REGISTER BIT 6 CAN BE SET AND (LEARED SEQ 0048

/0
’
X 222 I XTI SR Z 220222022022 02 QR RRdddRlRddllRidltdddd)

;eTEST 16 «TEST THAT CLOCK A STATUS REGISTER BIT 5 CAN BE SET AND CLEARED
* %

:¢CLOCK A STATUS REGISTER BIT EXERCISE. ON FAILURE=-SUSPECT INDIVIDUAL
"F/FS OR GATES

‘« PROBABLE SYNC POINT FOR THIS TEST:: "DEVICE OUT'' 2 OCCURANCES PER PASS
'i
L4
:'tttt'ttt"Qttttt'i't""'"t't'ti.tiﬁit'titi'Q'Ql'.tﬂ.l'i'ttttt
15T16:  SCOPE
;/CLEAR THE STATUS REGISTER.
S/SET BIT 5.
:/SET FOR ERROR TYPEOUT S/B.
:/READ THE STATUS REGISTER.
MOV #BITS,SGDDAT
. MOV SGDDAT,ASR :/ PUT DATA FROM $GDDAT TO DEVICE REG ASR
;e MOV @ASR,SBDDAT : /READ DEVICE REG ASR,PUT DATA IN $BODAT.
(MP  $GDDAT,$BODAT  :/DID BIT 5 AND ONLY BIT § SET?
BEQ 18 :/1F SO-LETS TRY CLEARING IT.

5::95995388858533388383888888>> ERROR <<$555558585535858553555358S

104002

ERROR 2 ;/ERROR CLOCK AS STATUS REGISTER.
:/BIT 5 FAILED TO BIT SET.

5::9883855888583835388853888>> ERROR <<$593555535555355555535388$

000416
005037 001124

005737 001126
001401

BR 2% ;/8BR TO END SUBTEST.
1%: :/TRY CLEARING BIT 5.

CLR $GDDAT :/CLEAR S/B FOR TYPEOUT IF ANY.

:/NOW READ [T BACK.

M MOV $GDDAT,3ASR s/ PUT DATA FROM $GDDAT TO DEVICE REG ASR
o MOV SASR,$BDDAT :/READ DEVICE REG ASR,PUT DATA [N SBDDAT.

TST $BDDAT

BtQ ra ) ;/1F IERO-NO ERROR!

$::9558855553553553558888383588>> ERROR <<$353538595385853558588353

104002

ERROR 2 : /ERROR-CLOCK A STATUS REGISTER.
;/BIT 5 FAILED TO CLEAR.

5::9988888388555853588585588888>> ERROR <<$95$53$55$555353333335333

2$:
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18-AUG-80 09:15 116 «TEST THAT CLOCK A STATUS REGISTER BIT S CAN BE SET AND CLEARED
¥4
;:"'itt"titttitt"f'i"t'i'i"Q.'t'l"".'.."QQ"'Q"Q""."'
J+TEST 17 *TEST THAT CLOCK A STATUS REGISTER BIT 3 CAN BE SET AND CLEARED
X

E'CLOCK A STATYUS REGISTER BIT EXERCISE. ON FAILURE-SUSPECT INDIVIDUAL
;*F/FS OR GATES
%

;* PROBABLE SYNC POINT FOR THIS TEST:: "DEVICE OUT'' 2 OCCURANCES PER PASS

[
[
L]
.
[ ]
[

¢ »

R X2 R R X R X T R XA RIREZRZRR SRS R0 RRRRRR0RRRRRRRRRRd)

000004 7ST17:  SCOPE
s /CLEAR THE STATUS REGISTER.
:/SET BIT 3.
:/SET FOR ERROR TYPEOUT S/B.
/READ THE STATUS REGISTER.
012737 000010 001124 MOV #B1T3,8GDDAT
(] MOV $GDDAT ,8ASR :/ PUT DATA FROM $GDDAT TO DEVICE REG ASR
o MOV AASR,SBODAT - /READ DEVICE REG ASR,PUT DATA IN SBDDAT.
023737 001124 001126 CMP $GDDAT,SBDDAT  :/DID BIT 3 AND ONLY BIT 3 SET?
001402 BEQ 1% */1F SO-LETS TRY CLEARING IT.
2555885855 5558588888888888>> ERROR <<$5$$55555555353355858558S
104002 ERROR 2 :/ERROR CLOCK AS STATUS REGISTER.

;/BIT 3 FAILED TO BIT SET.
:::9$958855355883588588888888>> ERROR <<$555595553535553553355583S

000416 BR 2% ;/BR TO END SUBTEST,

1$: :/TRY CLEARING BIT 3.
005037 001124 CLR $GDDAT :/CLEAR S/B FOR TYPEOUT [F ANY.

:/NOW READ 1T BACK,

ot MoV $GDOAT ,3ASR ;/ PUT DATA FROM SGDDAT TO DEVICE REG ASR

it MOV @ASR,$BDOAT :/READ DEVICE REG ASR,PUT DATA [N $BDDAT.
005737 001126 TST $BODAT
001401 BEQ 2s :/1F IERO-NO ERROR!
$::59885858885855855538838588>> ERROR <<$5553355553855535853835883
104002 ERROR 2 :/ERROR-CLOCK A STATUS REGISTER.

;/BIT 3 FAILED TO CLEAR.
3::$838888888888888838388888>> ERROR <<$$33533883858838583385835%3
2%:

SEQ 0049
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R BIT 3 CAN BE SET AND CLEARED SEQ 0050

117 +TEST THAT CLOCK A STATUS REGISTE
/R
N2 222232222 222 2222222222200 2222202000020 0Rdd]d

eTEST 20 *TEST THAT CLOCK A STATUS REGISTER BIT 2 CAN BE SET AND CLEARED
° %

;#CLOCK A STATUS REGISTER BIT EXERCISE. ON FAILURE-SUSPECT INDIVIDUAL
:*F/FS OR GATES
. %

« PROBABLE SYNC POINT FOR THIS TEST:: 'DEVICE OUT'' 2 OCCURANCES PER PASS

.
.
R T R T T R T R P T LT R R R
TST20: SCOPE
;/CLEAR THE STATUS REGISTER.
;/SET BIT 2.
;/SET FOR ERROR TYPEOUT S/B.
;/READ THE STATUS REGISTER.
(1) #B172,9GDDAT
) MoV $GDDAT,3ASR ;/ PUT DATA FROM S$GDDAT TO DEVICE REG ASR
v MOV @ASR ,SBDDAT :/READ DEVICE REG ASR,PUT DATA [N $BDDAT.
CMP $GODAT,$BODAT  ;/DID BIT 2 AND ONLY BIT 2 SET?
BEQ 1% ;/1F SO-LETS TRY CLEARING IT.

5::$988888858855538883838888>> ERROR <<$55555955355555555355888$

104002

ERROR 2 :/ERROR CLOCK AS STATUS REGISTER.
;/BIT 2 FAILED TO BIT SET.

:::3588883558538858888388888>> ERROR <<$5953559553555555538355883$

000416
005037 001124

005737 001126
001401

BR 2% :/BR TO END SUBTEST,
1%: :/TRY CLEARING BIT 2,

CLR $GODAT ;/CLEAR S/B FOR TYPEQUT IF ANY.

:/NOW READ IT BACK.,

Y MOV $GODAT,3ASR ;/ PUT DATA FROM $GDDAT TO DEVICE REG ASR
o MOV S8ASR,$BDDAT ;/READ DEVICE REG ASR,PUT DATA IN § DDAT.

TST $BDDAT

BtQ 2% :/1F IERO-NO ERROR!

$::$899858585853535888558883>> ERROR <<$5535$5555338555553888838

104002

ERROR 2 : /ERROR-CLOCK A STATUS REGISTER.
;/BIT 2 FAILED TO CLEAR.

:::9988$58888888388858888888>> ERROR <<$$5$35$53555353353558588$

2$:
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MAC
120 *TEST THAT CLOCK A STATUS REGISTER BIT 2 CAN BE SET AND CLEARED

¥4
: ;'Qt.tl'ttttt"""t"Q"Q"'tt'tittttt'tttt'ttttttittt'ttttﬁtt'
;eTEST 21 2TEST THAT CLOCK A STATUS REGISTER BIT 1 CAN BE SET AND CLEARED
L3

:¢CLOCK A STATUS REGISTER BIT EXERCISE. ON FAILURE=SUSPECT INDIVIDUAL
"F/FS OR GATES

:* PROBABLE SYNC POINT FOR THIS TEST:: 'DEVICE OUT'' 2 OCCURANCES PER PASS

e
T
T L L L R L T T T TR R T R T
TST21: SCOPE
:/CLEAR THE STATUS REGISTER.
s/SET BIT 1,
:/SET FOR ERROR TYPEOUT S/B.
+/READ THE STATUS REGISTER.
MoV #8171,8GDDAT
M MoV $GDDAT,@ASR ;/ PUT DATA FROM $GDDAT TO DEVICE REG ASR
A MoV @ASR,$BDDAT :/READ DEVICE REG ASR,PUT DATA IN $BDDAT.
cMp $GDDAT,$BDDAT  ;/DID BIT 1 AND ONLY BIT 1 SET?
BEQ 1$ :/1F SO-LETS TRY CLEARING IT.

:::9889855585555535553838388>> ERROR <<$55558855555855585585888$

104002

ERROR 2 :/ERROR CLOCK AS STATUS REGISTER.
;/BIT 1 FAILED TO BIT SET.

$::9589855558538855388538888>> ERROR <<$53588855855555588535888$

000416
005037

005737
001401

001124

001126

BR 23 ;/BR TO FND SUBTEST.
1%: ;/TRY CLEARING BIT 1.

CLR $GDDAT ;/CLEAR S/B FOR TYPEOUT I[F ANY.

:/NOW READ IT BACK.

ot MOV $GODAT,3ASR ;/ PUT DATA FROM $GDDAT TO DEVICE REG ASR
ot MOV SASR,$BODAT ;/READ DEVICE REG ASR,PUT DATA [N $SBDDAT.

TST $BDDAT

BEQ r3 ) ;/1F lERO-NO ERROR!'

$::98888888388355885888888888>> ERROR <<355353355535553385558888$

104002

ERROR 2 :/ERROR-CLOCK A STATUS REGISTER.
;/BIT 1 FAILED TO CLEAR.

$::9988855555558533558388858>> ERROR <<$955555555359855558385353S

2s:

SEQ 0051
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121 *TEST THAT CLOCK A STATUS REGISTER BIT 1 CAN BE SET AND CLEARED

S 3232232122220 20022222220 22000022000 RdRRRRRdRRRRdd ]

SATEST 22
* %

¢TEST THAT CLOCK A STATUS REGISTER BIT O CAN BE SET AND CLEARED

:#CLOCK A STATUS REGISTER BIT EXERCISE. ON FAILURE=SUSPECT INDIVIDUAL

;*F/FS OR GATES
: %

;* PROBABLE SYNC POINT FOR THIS TEST:: ''DEVICE OUT'' 2 OCCURANCES PER PASS

’
M 1432222223222 R2 2R3 0220 020 R RRRRRRRdRRRRRRAA%D)

;/CLEAR THE STATUS REGISTER.

;/SET BIT 0.

;/SET FOR ERROR TYPEOUT S/B.

;/READ THE STATUS REGISTER.
#B1T0,SGODAT

$GODAT,3ASR ;/ PUT DATA FROM SGDDAT TO DEVICE REG ASR
SASR,$BDDAT :/READ DEVICE REG ASR,PUT DATA [N $BDDAT.

$GDDAT,$BDDAT  ;/DID BIT O AND ONLY BIT 0 SET?
1% :/1F SO=-LETS TRY CLEARING IT.

$5:93588588588585585838888883>> ERROR <<$$$58855588555558855353838S

e
000004 1ST22: SCOPE
012737 000001 001124 MOV
o MOV
o MOV
023737 001124 001126 CMP
001402 BEQ
104002 ERROR

2 :/ERROR CLOCK AS STATUS REGISTER.
:/BIT O FAILED TO BIT SET.

5::99558853538553553885858888>> ERROR <<$$5355553553855555555888$

2% :/BR TO END SUBTEST,
:/TRY CLEARING BIT 0.
$GDDAT ;/CLEAR S/B FOR TYPEOUT IF ANY.

:/NOW READ IT BACK.
$GODAT,3ASR :/ PUT DATA FROM $GDDAT TO DEVICE REG ASR
SASR,SBDDAT s/READ DEVICE REG ASR,PUT DATA IN $BDDAT.

$BDDAT
23 :/1F IERO-NO ERROR!

5::5595558355583555538388838>> ERROR <<$33585885838855855853888$

000416 " BR
005037 001124 ' CLR
i MOV
i MOV
005737 001126 ST
001401 BEQ
104002 ERROR

2 s /ERROR-CLOCK A STATUS REGISTER.
:/BIT O FAILED TO CLEAR.

$::9958835833588558835388888>> ERROR <<$3555535588538535888¢538%

2%:

SEQ 0052
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CRLPGC.P11 18-AUG-80 09:15 122 *TEST THAT CLOCK A STATUS REGISTER BIT O CAN BE SET AND CLEARED
(3) V7
(7) * ;;'ttttttttttttttttttttatttntt'ttcctctcacQ'thttc'tttact'ttttttc
:9; ;*TEST 23 *+TEST THAT CLOCK A BUFFER REGISTER BIT O CAN BE SET AND CLEARED
;Q
(7 - :«CLOCK A BUFFER REGISTER BIT EXERCISE. ON FAILURE=-SUSPECT INDIVIDUAL
ég; :*F/FS OR GATES
;t
tg; .« PROBABLE SYNC POINT FOR THIS TEST:: "DEVICE OUT'' 2 OCCURANCES PER PASS
+ %
) ;t y
(6) ;;ttttttttttttttttt'ttttt'ti't'ttttttttt'ttt't!t.ttttt!'t"'t""
(S) 004454 000004 TS123: SCCPE
3 :/CLEAR THE BUFFER REGISTER.
(3) ;/SET BIT 0.
(3) :/SET FOR ERROR TYPEOUT S/B.
(3) :/READ THE BUFFER REGISTER.
zz; 004456 012737 000001 001124 MOV #BI1T0,8GDDAT
i:; e MOV $GDDAT,3ABR :/ PUT DATA FROM $GODAT TO DEVICE REG ABR
(4) on MoV SABR,$BDODAT :/READ DEVICE REG ABR,PUT DATA [N $BDDAT.
(3) 004504 023737 001124 001126 (MP _,  SGDDAT,$BODAT  ;/DID BIT 0 AND ONLY BIT 0 SET?
:2; 004512 001402 BEQ 1% :/1F SO-LETS TRY CLEARING IT.
. 5::95888888885835888888888888>> ERROR <<$$$5858$8355583835585888$
(3) 004514 104003 ERROR 3 :/ERROR CLOCK AS BUFFER REGISTER.
gz; ‘ ;/BIT 0 FAILED TO BIT SET.
5::8388588855888588888888888>> ERROR <<$3$5$538838885553835858888
(3) 004516 000416 BR 2% :/BR TO END SUBTEST.
(3) 004520 1$%: :/TRY CLEARING BIT 0.
(3) 004520 005037 001124 CLR $GDDAT </CLEAR S/B FOR TYPEOUT IF ANY.
22; :/NOW READ [T BACK.
22; Y MoV $GDDAT,3ABR s/ PUT DATA FROM $GDDAT TO DEVICE REG ABR
4) o MOV S8ABR,$BDDAT :/READ DEVICE REG ABR,PUT DATA IN $BDDAT.
(3) 004544 005737 001126 ST $BDDAT
22; 004550 001401 BEQ 2% :/1F IERO=-NO ERROR!
2::98858358888585583588588588888>> ERROR <<$333888888888888855358883%
(3) 004552 104003 ERROR 3 : /ERROR-CLOCK A BUFFER REGISTER.
:2; . :/BIT O FAILED TO CLEAR.
5::988888858888835888888888588>> ERROR <<$3$335353858883585588388389%
(3) 004554 2%:

SEQ 0053
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MACY11 306(1063) 24-0CT-80 09:38 PAGE 3-
123 *TEST THAT CLOCK A BUFFER REGISTER

I
.
AR ERNRNANANNRCERCEORRCROOOACREOSECEQROACOROARANRROROARANRAOAANOORRROAROOONN

E;TEST 24 *TEST THAT CLOCK A BUFFER REGISTER BIT 1 CAN BE SET AND CLEARED
X

:+(LOCK A BUFFER REGISTER BIT EXERCISE. ON FAILURE=-SUSPECT INDIVIDUAL
;*F/FS OR GATES
T

*» PROBABLE SYNC POINT FOR THIS TEST:: "DEVICE OUT'' 2 OCCURANCES PER PASS

33
BIT O CAN BE SET AND CLEARED SEQ 0054

:'
4
:' ;tttttttttt't't'tt't.'itt"t't't'tt.t""ttttttttttttittttttt'tt
T1ST24: SCOPE
;/CLEAR THE BUFFER REGISTER.
:/SET BIT 1,
:/SET FOR ERROR TYPEQUT S/B.
:/READ THE BUFFER REGISTER.
Mov #8171 ,8GODAY
o MOV $GODAT,3ABR :/ PUT DATA FROM $GDDAT TO DEVICE REG ABR
M MOV 8ABR,$BDDAT ;/READ DEVICE REG ABR,PUT DATA IN $BDDAT.
CMP $GODAT ,$BDDAT ;/DID BIT 1 AND ONLY BIT 1 SET?
BEQ 1$ :/IF SO-LETS TRY CLEARING IT.

:::9988885888585555888385888>> ERROR <<$$5538338585553835585893$

104003

ERROR '3 ;/ERROR CLOCK AS BUFFER REGISTER.
;/BIT 1 FAILED TO BIT SET.

$::399885555855555538588588588>> ERROR <<$35$$58553558598855553888$

000416
005037 001124

005737 001126
001401

8R 2% :/BR TO END SUBTEST.
18: :/TRY CLEARING BIT 1.

CLR $GDDAT :/CLEAR S/B FOR TYPEOUT IF ANY,

;/NOW READ IT BACK.

A MOV $GDDAT,3ABR ;/ PUT DATA FROM SGDDAT TO DEVICE REG ABR
B MOV 8ABR,$BDDAT ;/READ DEVICE REG ABR,PUT DATA IN $BDDAT,

TST $BDDAT

BEQ r4) :/1F I1ERO-NO ERROR!

$::9855888838883888858838888>> ERROR <<$3555555553855558388888$$

104003

ERROR 3 + /ERROR-CLOCK A BUFFER REGISTER.
:/BIT 1 FAILED TO CLEAR.

$::5888855588558585888353888>> ERROR <<$555393558555555558555333

2s:
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MACY11 30G(1063) 26-0CT-80 09:38 PAGE 3-34
T24 *TEST THAT CLOCK A BUFFER REGISTER BIT 1 CAN BE SET AND CLEARED SEQ 0055

IR

tttttttttttttt't"'i't"'t't"'t't""""QQ"'.'Q'.""""."

*YEST 25 *TEST THAT CLOCK A BUFFER REGISTER BIT 2 CAN BE SET AND CLEARED

'CLOCK A BUFFER REGISTER BIT EXERCISE. ON FAILURE-SUSPECT INDIVIDUAL
'F/FS OR GATES

'+ PROBABLE SYNC POINT FOR TWIS TEST:: "DEVICE OUT" 2 OCCURANCES PER PASS
-
(4
: . I X X XS IEX RSS2 R 2SR 2R R RRRRRRARRR2D
t5125:  SCOPE
;/CLEAR THE BUFFER REGISTER.
:/SET BIT 2.
:/SET FOR ERROR TYPEOUT $/B.
:/READ THE BUFFER REGISTER.
MOV #BIT2,SGDDAT
it MOV SGDDAT,3ABR ;/ PUT DATA FROM $GDDAT TO DEVICE REG ABR
;e MOV @ABR,S$BDDAT ; /READ DEVICE REG ABK,PUT DATA IN SBDDAT.
CMP  $GDDAT,$8DDAT  :/DID BIT 2 AND ONLY BIT 2 SET?
BEQ 18 :/1F SO=LETS TRY CLEARING IT.

:::$898885385885883889888888>> ERROR <<$$955555355533555555855838$

104003

ERROR 3 ;/ERROR CLOCK AS BUFFER REGISTER.
:/BIT 2 FAILED TO BIT SET.

5::9598388553338558338558853888>> ERROR <<$$$$5358855338553335558383

000416
005037 001124

005737 001126
001401

BR 2% :/BR TO END SUBTEST.
1%: :/TRY CLEARING BIT 2.

CLR $GDDAY :/CLEAR S/B FOR TYPEOUT [F ANY.

;/NOW READ IT BACK.

o MOV $GDODAT ,a8ABR :/ PUT DATA FROM SGDDAT TO DEVICE REG ABR
ML MOV @ABR,$BDDAT :/READ DEVICE REG ABR,PUT DATA IN $BDDAT.

TST $BODAT

BEQ 2% :/1F ZERO-NO ERROR!

$::9989588585585838888883888>> FRROR <<$559555559555585855358583$

104003

ERROR 3 :/ERROR-CLOCK A BUFFER REGISTER.
;/BIT 2 FAILED TO CLEAR.

5::9955885885588588838888888>> ERROR <<$$9533555955355535555558%

2%:

LP
(R
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E 5
MACY11 306(1063) 24-0CT-80 09:38 PAGE 3-35

LPA-KW11K DIAGNOSTIC MD=-11=-CRLPG=( A
CRLPGC.P1Y 18-AUG~80 09:15 125 «TEST THAT CLDCK A BUFFER REGISTER BIT 2 CAN BE SET AND CLEARED
(3) 7 4
(7) ::tttttttttttttittt'ttt"t"'titttﬁ't"Qtltt'tttttt'tttttttt't.tt
29; JTEST 26 +TEST THAT CLOCK A BUFFER REGISTER BIT 3 CAN BE SET AND CLEARED
. &
(7) :*CLOCK A BUFFER REGISTER BIT EXERCISE. ON FAILURE-SUSPECT INDIVIDUAL
f§§ ;*F/FS OR GATES
.
ﬁg; :* PROBABLE SYNC POINT FOR THIS TEST:: 'DEVICE OUT'' 2 OCCURANCES PER PASS
;t
7 g
(6) IR RN R AR AN RN NPT O PR AR N RAAR AR TRRNNRRRANCRNCTCROT LY
(5) 004754 000004 T1ST26: SCOPE
(3) :/CLEAR THE BUFFER REGISTER.
(3) ;/SET BIT 3,
(3 :/SET FOR ERROR TYPEOUT S/B.
3 :/READ THE BUFFER REGISTER.
22; 004756 012737 000010 001124 MOV #8173,3G0DAT
ﬁ:; 1R MOV $GDDAT,8ABR ;/ PUT DATA FROM S$GDDAT TO DEVICE REG ABR
(4) o MOV 8ABR,$BODAT :/READ DEV]ICE REG ABR,PUT DATA [N SBDDAT,
(3) 005004 023737 0011246 001126 CMP S$GDDAT ,$BDDAT :/DID BIT 3 AND ONLY BIT 3 SET?
52; 005012 001402 BEQ 1% ;/1F SO=-LETS TRY CLEARING IT.
$::88888$8338353383888838888>> ERROR <<$$9$5553835353533333858838$
(3) 005014 104003 ERROR 3 ;:/ERROR CLOCK AS BUFFER REGISTER.
ézg :/BIT 3 FAILED TO BIT SET.
1::3853885338358383838888888>> ERROR <<$$3$55333535555853558588$
(3) 005016 000416 BR 2% ;/BR TO END SUBTEST.
(s5) 005020 1$: :/TRY CLEARING BIT 3.
(3) 005020 005037 001124 CLR $GDDAT :/CLEAR S/B FOR TYPEOUT IF ANY.
22; :/NOW READ IT BACK.
i:; i MOV $GDDAT,8ABR :/ PUT DATA FROM $GDDAT TO DEVICE REG ABR
(&) 13 MOV @ABR,$BDDAT :/READ DEVICE REG ABR,PUT DATA IN SBDDAT,
(3) 005044 005737 001126 TST $BODAT
52; 005050 0014601 BEQ 23 :/1F ZERO-NO ERROR'
:::98888355888555888858888888>> ERROR <<$93588355838853895388888$
(3) 005052 104003 ERROR 3 :/ERROR=-CLOCK A BUFFER REGISTER.
22; :/BIT 3 FAILED TO CLEAR.
$3:$888888555858898888888888>> ERROR <<$33$5353358538338883853583888
(3) 005054 2%:

SEQ 0056
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F 5
MACY11 306(1063) 24-0CT-80 09:38 PAGE 3-3
v R BIT 3 CAN BE SET AND CLEARED

26 *TEST THAT CLOCK A BUFFER REGISTE
¥4

SR i2Z2 2222222222222 X220 2020000 dRRRRRRRRRRRRRRRRRRRRRD]

SeTEST 27 «TEST THAT CLOCK A BUFFER REGISTER BIT & CAN BE SET AND CLEARED
. %

E*CLOCK A BUFFER REGISTER BIT EXERCISE. ON FAILURE-SUSPECT INDIVIDUAL
;*F/FS OR GATES
X

;* PROBABLE SYNC POINT FOR THIS TEST:: ''DEVICE OUT'' 2 OCCURANCES PER PASS

SEQ 0057

*
< ¥
;;tlttttttttttttiitt'tttt'tt'tttttttttttttttttt'tt'tﬂttttﬂtQ'QQtt
TST27: SCOPE
:/CLEAR THE BUFFER REGISTER.
:/SET BIT 4,
:/SET FOR ERROR TYPEQUT §/8.
:s/READ THE BUFFER REGISTER.
MOV #B174,3GDDAT
o MOV $GDDAT ,3ABR :/ PUT DATA FROM SGDDAT TO DEVICE REG ABR
o MOV adABR ,$BODAT :/READ DEVICE REG ABR,PUT DATA [N $SBDDAT.
CMP $GDDAT,$BDDAT :/DID BIT & AND ONLY BIT 4 SET?
BEQ 1% ;/1F SO-LETS TRY CLEARING [T,

$::9983583585583838538888888>> ERROR <<$5$5538558553553858889888

104003

ERROR 3 ; /ERROR CLOCK AS BUFFER REGISTER.

;/BIT & FAILED TO BIT SET.

$::9955885855888553588538388>> ERROR <<$995955355588558558358888$

000416

005037 001124

005737
001401

001126

BR 2% ;/BR TO END SUBTEST.
1$: :/TRY CLEARING BIT &,

CLR $GDDAT ;/CLEAR $/8 FOR TYPEOUT If ANY,
; /NOW READ IT BACK.
. MOV $GDDAT,RABR :/ PUT DATA FROM $GDDAT TO DEVICE REG ABR
] MOV dABR,$BDDAT ;/READ DEVICE REG ABR,PUT DATA [N $BDDAT.
TST $BODAT
BEQ 2% ;/1F IERO-NO ERROR!

52:9958585585555355383883833>> ERROR <<338595588535538838588838$

104003

ERROR 3 ; /ERROR-CLOCK A BUFFER REGISTER.

;/BIT & FAILED TO CLEAR.

::9995535535558858858838888>> ERROR <<$535533555555555858355333%

2%:

LI
(i
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LPA-KW11K DIAGNOSTIC MD=11=CRLPG=( MACYI1 306(1063) 24-0C1-80 09:38 PAGE 3-37
CRLPGC.P1Y 18-AUG-80 09:15 127 *TEST TMAT CLOCK A BUFFER REGISTER BIT & CAN BE SET AND CLEARED
(3) ¥y
(7 R L R L R A R A AR ARl iid
t?; ;*TEST 30 *TEST THAT CLOCK A BUFFER REGISTER BIT S CAN BE SET AND CLEARED
;t
" ;*CLOCK A BUFFER REGISTER BIT EXERCISE. ON FAJILURE-SUSPECT INDIVIDUAL
ég; ;*F/FS OR GATES
X
ig)) ;e PROBABLE SYNC POINT FOR THIS TEST:: "DEVICE OUT'' 2 OCCURANCES PER PASS
.0
(7) te
(6) L R A A A A A ARty
(5) 005154 000004 TST30: SCOPE
(3) ;/CLEAR THE BUFFER REGISTER.
(3) ;/SET BIT 5<ns1:XMLFault xmlns:ns1="http://cxf.apache.org/bindings/xformat"><ns1:faultstring xmlns:ns1="http://cxf.apache.org/bindings/xformat">java.lang.OutOfMemoryError: Java heap space</ns1:faultstring></ns1:XMLFault>